UGC NET 2022 LAW

Topic:- 58_PARTA_S2

1) Who said that there are two elements of possession, (a) Corpus possessionis and (b)

Animus domiini?

1. lhering
2, Paton

3, Savigny
4, Salmond
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[Question ID = 301][Question Description = 101_58_LAW_0OCT22_S2_Q01]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]

2) Given below are two statements

Statement |: Hart deals with primary rules of obligation and secondary rules of

recognition
Statement II: Hart has nothing to do with the reformulation of analytical positivism

In light ef the above statements, choose the most appropriate answer from the

options given below

1. Both Statemient | and Statement 1l are correct

2. Both Statement | and Staternent 1l are incorrect

3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct
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[Question ID = 302][Question Description = 102_58_LAW_0OCT22_S2_Q02]



. 1 [Option ID = 1205]
.2 [Option ID = 1206]
. 3 [Option ID = 1207]
. 4 [Option ID = 1208]

ANwpN =

3) Trade secrets do not cover the following information:

1. Commercially valuable

2. Production methods

3. Business plans

4. Information discovered by reverse engineering

Frfarad # § Sl To7 cauR tew! & e T8 el &
1. o® €9 9 geaaH
2, JdreA farem
3, HIGEIG® giaAe

[Question ID = 303][Question Description = 103_58_LAW_0OCT22_S2_Q03]
1. 1 [Option ID = 1209]
2. 2 [Option ID = 1210]
3. 3 [Option ID = 1211]
4. 4[Option ID = 1212]

4) Article 13 of the Constitution of India does not apply to:

1. Any legislation made by the Parliament under Article 245 of the Constitution

2. Any legislation made by the Parliament under Article 253 of the Constitution
giving effect to international agreements

3. Any amendment of the Constitution made under Article 368

4, Custom and usage
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[Question ID = 304][Question Description = 104_58_LAW_0CT22_S2_Q04]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]

5) Under which article of the Constitution of India, is it the duty of the Union to protect
every State against external aggression and internal disturbance and to ensure that
the governmenit of every state is carried on, in accordance with the provisions of the
Constitution of India?

1. Article 353
2, Article 354
3. Article 355
4, Article 356
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1, 973G - 353
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[Question ID = 305][Question Description = 105_58_LAW_0OCT22_S2_Q05]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]

6) Every decision of the Goods and Services Tax Council shall require it to be taken at a
meating:

1. by a majority of not less than'twp—th}fds of the weighted votes of the members
present

3. .!_y a majority {_)l not less. than two-thirds of the -m_ei:ghted notes of all the

members of the Council
4. by a majority of not less than three-fourths of the weighted notes of all the
members of the Council
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[Question ID = 306][Question Description = 106_58_LAW_0OCT22_S2_Q06]

1. 1 [Option ID = 1221
. ption ID =
4. 4 [Option ID = 1224]

7)  Which of the following is/are NOT administrative actions?

1. Internment, BExternment and Deportation
2. Functions of a selection committee
3, Fact-finding action
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[Question ID = 307][Question Description = 107_58_LAW_0CT22_S2_Q07]
1. 1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]



8) Every state and every local authority within the state is required to provide adequate
facilities for instruction in the mother-tongue at the primary stage of education to
children belonging to linguistic minority groups under,

1._A_rtic}_g 350
2. Article 350 A
3, Article 350 B
4 Article 351
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[Question ID = 308][Question Description = 108_58_LAW_0OCT22_S2_Q08]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]

9) Ordinarily, a delegated legislation can be given:

1. prospective effect only

2. retrospective effect only

3. both, prospective and retrospective effect
4, effact, as the Court may decide
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[Question ID = 309][Question Description = 109_58_LAW_0OCT22_S2_Q09]
‘ 1. 1 [Option ID = 1233]

2. 2 [Option ID = 1234]

3. 3 [Option ID = 1235]

4. 4 [Option ID = 1236]

10) I which one of the following cases, Legal aid was held as a fundamental right?

1. 5unil Batra case
3. Prem Shankar Shukla case
4, Keshvananda Bharathi case
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1. G & e
3, UF Y1 Xaa $Y
4, HEAFG YRl $9



[Question ID = 310][Question Description = 110_58_LAW_0CT22_S2_Q10]
1. 1 [Option ID = 1237

. ption ID =
4. 4 [Option ID = 1240]

11)  The Hicklin test under Article 19(2) is related to:

1. Defamation

3. Integrity ;:é!-ln!‘ ia

4, Negligence
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[Question ID = 311][Question Description = 111_58_LAW_0CT22_S2_Q11]
1. 1 [Option ID = 1241]

. ption ID = 3]
4. 4 [Option ID = 1244]

12)  In the Constitution of India, the principle of Rule of Law is'mainly embodied in:

2. Article 32
3. Article 226
4, Article 227

faftl &1 2 &1 foaia gem: e sy 8 2

2, % %H% -32

Bﬁm?ﬁﬂﬁﬁrﬂﬂﬁﬁ -226
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= estion Description = 112_58_LAW_0CT22_S2_Q12]

2. 2 [Option ID = 1246]
3. 3 [Option ID = 1247]
4. 4 [Option ID = 1248]

13)  Which of the following is NOT correct under the Geographical Indications of Goods
(Registration and Protection) Act, 19997

1. Producer, in case of agricultural goods, includes the person who produces the
goods.

2. Producer, in case of agricultural goods, includes the person who packages such
goods.

3. Producer, in case of natural goods, includes the person whe exploits such goeds
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[Question ID = 313][Question Description = 113_58_LAW_0OCT22_S2_Q13]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3.3 [Option ID.= 1251]
4. 4 [Option ID = 1252]

14)  Which of the following can be registered as a Trade Mark?

1. Mark devoid of distinctive character
2. A distinctive mark

3. A mark causing confusion

4, Oval shape for medicinal tablet
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[Question ID = 314][Question Description = 114_58_LAW_0OCT22_S2_Q14]
1.1 [Option ID.= 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]

15)  Who defined ownership as 'plenary control ever an object’?

. Roseoe Pound
. Holmies
. Holland

. Paton
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[Question ID = 315][Question Description = 115_58_LAW_0OCT22_S2_Q15]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]



16) Who said, "A legal person, is any subject matter other than a human being to which
law attributes personality"?

2. Holmes
3, Jerome Frank
4, Pound
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= estion Description = 116_58_LAW_0CT22_S2_Q16]

2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4. 4 [Option ID = 1264]

17) In the light of the Criminal Law (Amendment) Act, 2013, which of the following
statements is/are correct?

1. The word 'rape’ in section 375 IPC has been replaced with 'sexual assault’
2, Rape is now a gender-neutral offence
3, The Amendment has fixed the age for consensual sex as 16 years
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[Question ID = 317][Question Description = 117_58_LAW_0CT22_S2_Q17]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]

3. 3 ioition ID = 1267i
18) The doctrine, res-ipsa loguitur; was applied by the Supreme Court in

1. Alka v. Union of _Ir‘!tﬁa _
2, Asa Ram v, Municipal Corporation of Delhi

4, Jashir Kaur v, State of Punjab
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[Question ID = 318][Question Description = 118_58_LAW_0OCT22_S2_Q18]

1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

19) The test of reasonable foresight in determining remoteness of damages was first

applied in

1. Re: Polerris:

2, Wagon Mound Case

3. Doughty v, Turner Manufacturing Co,Ltd

4, S.C.M (United Kingdom) Ltd. v, WJ.Whittal & Sons
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[Question ID = 319][Question Description = 119_58_LAW_0OCT22_S2_Q19]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]

20) The Consumer Protection Act, 2019, talks about direct selling, e-commerce and

electronic service provider

1. True

2 False

3, Consumer Protection Act, 1986 did not provide about this
4,.Both 1and 3
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[Question ID = 320][Question Description = 120_58_LAW_0OCT22_S2_Q20]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]



21) In order to establish a cartel, what is NOT necessary?

1. There should be an agreement

2. It should be between an association of producers, sellers, distributors, traders or
service providers

3.The objective should be to limit, control or attempt to control the product
distribution, sale or pnce of or trade in goods or provisions of services

4. Cartels are very good for comp
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[Question ID = 321][Question Description = 121_58_LAW_0OCT22_S2_Q21]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
| 4. 4 [Option ID = 1284]

22) which one of the following is NOT one of the modes of termination of agency?

1. Insolvency of principal

2, Principal or agent’s death
3. Gengral Lien

4, Revocation
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[Question ID = 322][Question Description = 122_58_LAW_0CT22_S2_Q22]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]

23) ‘'\pluritarily' has been defined as an effect caused by means, whereby a person
intended to cause it or by means, at the time of employing those means, to know or

had reason to believe to be likely to cause it unden:

1. Section 35, IPC
2, Section 36, IPC
3 sa:mnaa IPC
4, Section 40, [PC
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[Question ID = 323][Question Description = 123_58_LAW_0OCT22_S2_Q23]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]
3. 3[Option ID = 1291]
4. 4 [Option ID = 1292]

24) Arrange the following cases chronologically (starting from the earliest to the latest)
A. National Legal Servica Authority v U.O.1
B. Naz foundation v Govt. of NCT
C. Navte] Singh Johar v, U.O.|
D. Suresh Kaushal v, Naz foundation

E. The cases of Navtej Singh Johar and Suresh Kaushal were decided in the same
year

Choose the correct answer from the options given below

1.C,E B,D
2.D,B,4 C
3.8,D.A,C
4.E DA B

Fafcied amdl ([G9) @1 EPHEaR (U4 4 RY X 50 Jd504 o) sganyg
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[Question ID = 324][Question Description = 124_58_LAW_0OCT22_S2_Q24]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]

| 3. 3[Option ID = 1295]



4. 4 [Option ID = 1296]

25) has to provide by making regulations for any tclass or class of companies
which may file a shelf prospectus with the Registrar at the stage of first offer of

securities,

TL.NCLT

2.SEBI

3.1BBI

4, Director of a company

Bl ®U-l & fadl @1 a1 7 & (o faHgg &9 82y #H g 8, o
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[Question ID = 325][Question Description = 125_58_LAW_0OCT22_S2_Q25]

1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]

26) Every partner of a partnership firm is liable for all the acts of the firm done while he
is a partner, This doctrine is called:

1. The doctrine of holding out

2, T.}‘.k,E dcrctﬁlne of restitution

3. The doctrine of estoppel

4, The doctrine of propertionality
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[Question ID = 326][Question Description = 126_58_LAW_0OCT22_S2_Q26]

’ 1. 1 [Option ID = 1301]
2. 2 [Option 1D = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

27) When an unmarried woman adopis a child and subseguently marries; the person

wha she subsequently marries; shall be the:

1. adoptive father of the child
2, stepfather of the child

3. natural father of the child
4 Either1or2
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[Question ID = 327][Question Description = 127_58_LAW_0CT22_S2_Q27]

1. 1 [Option ID = 1305
. ption ID =

4. 4 [Option ID = 1308]

28) Which of the following is NOT a ground of diverce available to wife under section
13(2) of the Hindu Marriage Act, 19557

1. Pre - Act bigamous marriage of the husband
2. Repudiation of marriage

4, Husband guilty of rape, soedomy and bestiality

fewg faare offem, 1955 F1 4RI 13(2) T i U5 @1 Fgaad o ¥ qae o
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[Question ID = 328][Question Description = 128_58_LAW_0CT22_S2_Q28]
1. 1 [Option ID = 1309]

2. 2 |Oition ID = 1310|
. ption ID =
29) The children born out of a void Hindu marriage, are in the eyes of law

1. lllegitimate
2, legitimate

3. illegitimate, having ne rights in the ancestral pro

only

g e iTa = s R A8
1. SAfdEEET
2. fafirgea | _
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[Question ID = 329][Question Description = 129_58_LAW_0OCT22_S2_Q29]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]

3.3 |Oition ID = 1315



30) Restitution of conjugal rights has its genesis urfdé_r the

2, Indian law

4, Swedish law

estion Description = 130_58_LAW_0CT22_S2_Q30]

4. 4 [Option ID = 1320]

31) Among the Muslims, Sariri is the
stage:
1. when the boy or the girl is below 10 years of age

3. when the boy cr the girl is above fifteen years of age
4. when the boy or the girl is above 10 years of age
e H g g
1. 58 ©S% 4] 8@ ®| 39 10 8 ¢ Hid &Il 81

4, waﬁmaﬁaﬁa& 103&%%%%
[Question ID = 331][Question Description = 131_58_LAW_0OCT22_S2_Q31]
1. 1 [Option ID = 1321]

4. 4 [Option ID = 1324]

32) The law relating to armed conflicts of non-international character is governed by:

1. Common Article 3 of the Geneva Conventtion, 1949 or the Additional Protocol |,

! E !rtmna| !f-:;-m'c_a[s, 1and II, 1977

4. Only Additional Protocol 1, 1877

TR-aR Py faiua A §0 9ue 3 Wefiia & o dieieia ar e e @ 7
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3, Hlda 1l, 1977
4, hael SHidfied Hiekpie |, 1977 9

[Question ID = 332][Question Description = 132_58_LAW_0OCT22_S2_Q32]
1. 1 [Option ID = 1325

ption ID = 1327
4. 4 [Option ID = 1328]




33) Nottebohm's case deals with Nationality by

2. Birth
3. Resumption
4, Subjugation

S AeaE HHE 9 ARG 4 Hald § 390 AER AN WE 31 96 6
BRE: oot

29949
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Iiuestion ID = 333||iuestion Description = 133_58_LAW_0CT22_S2_Q33]
. ption ID =

3. 3 [Option ID = 1331]
4. 4 [Option ID = 1332]

34)  Which of the following doctrines. fs{_t:allp;_i as Doctrine of Non-recognition?

1. Estrada Doctrine
2. Hallestein Doctrine
3. Franco Doctrine

- 4SimeonDeaive
fFrafafad & 8 sH-u g o & Risid & AW € o 9 e 2
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[Question ID = 334][Question Description = 134_58_LAW_0CT22_S2_Q34]
1. 1 [Option ID = 1333]
2. 2 [Option ID = 1334]

35) Pacta Terties Nec Nocent Nec Prosunt means

1. Multilateral treaties prevail over bilateral treaties
2, Treaties are not binding in case of situations of emergency

4, The right of innocent passage cannot be thwarted by bilateral treaties

fiaer 3w ¥ e o Uele A B
1. Sgvaly S, sl il w sifaHrd il 81
2. AT P R  HIHE & ST TR 7 a2

[Question ID = 335][Question Description = 135_58_LAW_0CT22_S2_Q35]
1. 1 [Option ID = 1337]
2. 2 [Option ID = 1338]

. ption ID =




36) "General principles of law recognized by civilized states, as a source of international
law has been applied in following case ;

1. Corfu Channel case
2. Asylum case

4, Reparations case

fafoied &8 5 g gU |
1. BREG A4 &Y
2, TSTOEH Y

AR iTEE e A
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[Question ID = 336][Question Description = 136_58_LAW_0OCT22_S2_Q36]
1 [Optlon ID = 1341]

4. 4 [Option ID = 1344]

37) Which of the following is incorrect?

2. An agreement enforceable by law is a contract

3. Every promise and every set of promises F{;}rmmg- the consideration for each
other is'an agreement

4, An agreement not enforceable by law is said to be void

Frafaiad # | &1 H e 6 :

4, Tafel GRT swadig BXR U See @

uestion ID = 337][Question Description = 137_58_LAW_0CT22_52_Q37]

ption
3. 3 [Option ID = 1347]
4. 4 [Option ID = 1348]

38) Which of the following is false?

1.A contract is frustrated where the actual and specific subject matter of the
contract has ceased to exist

2. A contract will frustrate where circumstances arise which make the performance
of the contract impossible in the manner contemplated

3. A contract which required personal performarnce by promisor is frustated on the
Q‘ea‘th of:th_e; Emmisgar
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[Question ID = 338][Question Description = 138_58_LAW_0OCT22_S2_Q38]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]
3. 3 [Option ID = 1351]
4. 4 [Option ID = 1352]

39) Which one of the following is correct?

1. A public company can be formed with a minimum of nine persons

2. A private company can be formed with two or more persons

3. Memgcrandum of Association is not required for registration of a company
4 Articles of Association is not required for registration of a company

Feffeg ¥ @ eH-aT9di 8 2
1. B WBR] S| e 9 ofge! 4 w1 = Wbl &
2. 8 Sl el 2 aper e cafd & Sl o el &
3. T4l &Y & Uead 5d WTH-3194 (HARSH 15 CHIR0YH) B Sfavgedl Tal
g8l

4. 750 Ul & USiae 8 993w I HaEEd 8l el &

[Question ID = 339][Question Description = 139_58_LAW_0OCT22_S2_Q39]

1. 1 [Option ID = 1353]

2. 2 [Option ID = 1354]

3. 3 [Option ID = 1355]
4. 4 [Option ID = 1356]

40) Given below are two statements, one is labelled as Assertion A and the other

is{abelied a5 Reason R

Assertion A: A master is liable for all tortious acts of his servants done in the course

of employment

Reason R: The representatives of the dead person are, in certain cases, liable for the

acts of the deceased

In light of the above statements, choose the most appropriate answer from the

options given below

1. Both A and R are correct and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3, Ais correct but R is not correct

4. A is not correct but R is correct



Jid &l e fGE TR § ;. UF @Y (Assertion A) B U H [GRad § dl GERI 99
@R (Reason R) aﬁﬂﬂ,

ey A ; FgeE ®1 3@ J 3 Gt gR1 54 70 9 efad @l gg Jifte
Juadl gl

@RI R ; $F TH0 H Jao odiad & WY [Ga7d & $dl od Juiadi aid 81
e HYA! & H1E® J FEied [d@edl § J 9e 3Tk &1 994 P11 ;

1.4 3 RGHFT 81 & 3R R, A DI U8 AT &

2. A SR R G Hel €, Tifdh R, A BT el ARl el 81
3. A 96l & Cildd R Hol ol &

4 ATR TRl OPIR TRl B

[Question ID = 340][Question Description = 140_58_LAW_0OCT22_S2_Q40]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4. 4 [Option ID = 1360]

41) The Compstition Act, 2002, provides for which of the following?
A, Establishment of a Commission to prevent practices having effecton competition
B. To promote and sustain competition in markets
C. To protect the interests of consumers
D. To ensure freedom of trade carried on by the other participants in the markets
E. To establish NCLT and NCLAT to decide various matters
Choose the correct answer froam the options given below;

1.A, B C DandE
2.8, Cand D only
3.C D and Eonly
4.A, B Cand Donly

vicremsf arfafam, 2002 # FafaiEd § 9 foue yeyE B m@ie 2

A, Hiereell O TG SToH arel W7 @) AdUTE & [07d T S @1 ST @t

B, @ISR 1 Ufcreas &1 UicTe &1 IR Had §797Y W&

C. IuHIEm & fedl &7 G &

D. ST9IR H &4 HiqHIE! gRI 9 WiH dikl o/HR &1 ozl ©f giisd d]

. faftrst wrel @ FuiRd @3 & fon s diue d, SR e L ua.u e 1 @i &3
i fau U fasedl | 8 W6 3ok o 94 ditad ;

1.4, 8 C DINE
2 HAAE, C HR D
3,30 C, DARE
4, &aTA, B, CHRD

[Question ID = 341][Question Description = 141_58_LAW_OCT22_S2_Q41]
1. 1 [Option ID = 1361]



2. 2 [Option ID = 1362]

3. 3 |Oiti0n ID = 1363

42)

Given below are two statements, one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A : The President of India is'a mere constitutional head

Reason R : In the parliamentary form of government, the Prime Minister is the head
af.g_‘pvemmef&t

In light of the above statements; choose the correct answer from the options given
below

1.Both A and R are true and R is the correct explanation of A

3, A is true but R is false
4, Ais false but R is true

TRasFE RTTE: @ e (Assertion A) T w7 fafd ¢ df oo 39®
@R[ (Reason R) & ©4 H;
ST A - HRA &1 TPUd AHHE & Jaye vgE e &

@RI R ; TTEH & dlbdiiad YHR 5, AR o] W8 TUEEA sidl ol
ST BYA! & AP & FHifed el 3 3 Udl I @1 904 Do ;

1.4 IR REFFAE IR R A I 98 AT &

3.A 9 g, Ao R S
4 ANTUE UPIRET S

[Question ID = 342][Question Description = 142_58_LAW_0OCT22_S2_Q42]
1. 1 [Option ID = 1365]

4. 4 [Option ID = 1368]

43)

Given below are two statements

Statement I: For judicial review, 'irrationality’ means that the decision is so
outrageous in its defiance of logic or accepted moral standards, that no sensible
person could have arrived at such a decision

Statement lI: For judicial review, ‘unreasenableness’ mea_ns'e.ither the facts do not
warrant the condusion reached by the authority or the decision is partial and
unegqual in its speration

In light of the above statements, choose the most appropriate answer from the
options given below

2, Both Statement | and Statement Il are incorrect
3, Statement | s correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct



@Y | ; e HIe & (AT siadel @Emfe) o o (o ad @1 e 3 g
Sy & a7 Afd® AFel ) WieR B S99l & [0 B 4 GE3GR Hiad 39 U6R &
g W agar gan il

@Y (| ; AIA® GHIET & O SRS (SFNGHae-9) @ Sid 91 al aud Wibs gRl
@ Mo e & fou sngRos T8l & @1 (vl 39e ufaeE § e IR emEe
=

Suad HYA! & H1E® & Fgiod [deed H§ § 9el 3T @1 994 DI ;

1.0YF | SR GHIEE
2. HYT I AR I GETad 8
3, YT | 98l o, dit Y4 1 TTad &
4, FY 1 TTAd &, Tl &Y 1| el &

[Question ID = 343][Question Description = 143_58_LAW_0OCT22_S2_Q43]
1. 1 [Option ID = 1369]
2. 2 [Option ID = 1370]
3. 3 [Option ID = 1371]
4. 4 [Option ID = 1372]

44) Given below are two statements

Statement I: The power of legislation carries with it the power o delegats and

unless the legislature has completely abdicated or effaced itself, there is no

restriction on delegation of legistative powers

Statement II: Parliament can abdicate or efface itself by creating a parallel

legislative bady

In light ef the above statements, choose the most appropriate answer from the

options given below

1. Both Statement | and Statement || are correct
2. Baoth Statement | and Statemenit || are incorrect

4 Statement | is incorrect but Statement || is correct
g e fcume.

&y | ; fafy fFmfo &1 ofta § vadse @1 2 safed § ik &e a0 Guifger
S9%] UUiag] AR 3Ydl FREA 81 Bl a9 ao [auid] Aded! & YaiieH 1R B
PINEHE ]

BYT || ; GYE TP GHERR Ho/ givd S 30 Gul @1 ARG syl FEE e
gddi gl
e HYA! & H1E® J FEied [d@edl § J 9e 3Tk &1 994 P11 ;

1.8y 1 R EH T8 8
aﬁmlaﬁ?nfﬂﬂ‘fw%‘
3. YT | ¥el 5, did S (1 TTad 8§
4?&!4:[!7@?{%%@:[”9??[%




[Question ID = 344][Question Description = 144_58_LAW_OCT22_S2_Q44]
1. 1 [Option ID = 1373]
2. 2 [Option ID = 1374]
3. 3 [Option ID = 1375]
4. 4 [Option ID = 1376]

45)

Given below are two statements

Statement |: A contract which ceases to be enforceable by law becomies void when
it ceases to be enforceable

Statement lI: An agreement in restraint of trade is voidable

In light of the above statements; choose the correct answer from the options given
below

1, Both Statement | and Statemerit |l are true
2, Baoth Statement | and Statement || are false
3. Statement | is true but Statement Il isfalse
4 Statement | is false but Statement || is true

@Y | : B Gidgl, Sl fdf & FFUR SH- giex Yaa-1d -6l 6l 6, 98 98 Waa-id
BIF1 HHIE Bl Sl 8

Y || : UF GESG] AR & Y H YOy sl ol
ST BT & EIs J FHied Aeedl § U Hel 9Tk &1 99 S

1. @Y RIS S

2W|aﬁ¥ufﬂﬂ1m§

A I i

IR

4@?1&@&% Hfe By I ST 2

[Question ID = 345][Question Description = 145_58_LAW_OCT22_S2_Q45]
1. 1 [Option ID = 1377]
2. 2 [Option ID = 1378]
3. 3 [Option ID = 1379]
4. 4 [Option ID = 1380]

46)

Given below are two statements

Statement |: It is the duty of the Prime Minister to communicate to the President all
decisions of the Council of Ministers relating to the administration of the affairs of
the Unien and proposals for legislations

Statement II: It is the duty of the Prime Minister to furnish such information relating
to-the administration of the affairs of the Union and propesals for legislation, as the
President may call for

In light of the above statements; choose the correct answer from the options given
below

1. Both Statement | and Statement Il are true

2. Bath Statement | and Statement |l are false

3, Statement | is true but Statement || is-false
4, Statement | is false but Statement |l is true



&YT | ; g8 UYHEE & oihd § f 99 & YR 9edl ol Ay o gl 9
Heiftg #hufves & g Fofal & ar F apefd 1 g e

®YA || : Tg VU @1 Gl & T WY & uneiie Amdl ud Ry e wl |
Heifeie ! T e SR AR S 0 W o1

Swiad Syl & eie & Mgl fAee § & 98 3R @ 99 Bt

1.9 RIS TR

2. @Y | AR || S S OE &
3, HYT | 9d &, it BYH || A B
4, YT | SEAE e oy I A8

[Question ID = 346][Question Description = 146_58_LAW_OCT22_S2_Q46]
1. 1 [Option ID = 1381]
2. 2 [Option ID = 1382]
3. 3 [Option ID = 1383]
4. 4 [Option ID = 1384]

47)

Given below are two statements

Statement I: An appeal shall lie in the Supreme Court fromt any judgment, final
order or sentence in a criminal proceeding of a High Court in the territory of India, if
the High Court has on appeal reversed an order of acquittal of an accused person
and sentencad him to death

Statement II: An appeal shall lie in the Supreme Court frem any judgement, final
order or sentence in a criminal proceeding of a High Court in the territory of India, if
the High Court has withdrawn from {trial before itself any case from -any
court subordinate to its authority and has in such a trial convicted the accused
person and sentenced him to death

In light ef the above statements, choose the most appropriate answer from the
options given below

1. Both Stateme:
2. Bath Statement | and Statement || are incorrect

nt | and Statement Il are correct

3, Statement | is correct but Statement | is incorrect
4, Statement | is incorrect but Statement |l is correct



@Y | - [l 3= TITE 9 YNd & UR0® &7 F [$al ARIYe Srdel 3 @
i, Sifc e 1 99 W Sai= gaedl | e e, gic 9= gied 4 e
o food] SR eafad &) GIuHad B4 & A1y &l Jac (44T s IR 94 99 68 el
Y || : (5 3= AT 9 YRd & URA® &7 O B STRiie srdel 3 0
iy, sifay ey o1 99 R gai= e § Adiq 89, g 3= gEed o o
TER & A o5l rarey | [l A/ @1 5 1641 6 S UG ga1s § SRl
e 1 THP [T U Ged & [ad 7 65 adl o

Il YA & HEi® 4 Fgiied el H 4 981 3R &1 984 DI

1.9 AR ISR G e
2. FYF | AR | G 2 9E 8
3, FYF | 9§, dicp- ®YA || 3G 8
4, FYF | HEAE, O ®Y 11 I8

[Question ID = 347][Question Description = 147_58_LAW_0OCT22_S2_Q47]
1. 1 [Option ID = 1385]
2. 2 [Option 1D = 1386]
3. 3 [Option ID = 1387]
4. 4 [Option ID = 1388]

48) Given below are two statements

Statement I: Imperative law means "a concept of the rule of action impesed upon
men by some autherity which enforces obedience to it

Statement II: Natural law signifies the principles of natural right and wrong

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement | is incorrect
4, Statement | is incorrect but Statement |l is correct

YT | ;- AFad &Y J e $ 9T ® Oeedql @I uied Uy &34 e el
@RI GR1 &ieqd! B JERIMUa SNaR 99y (409 i 31

@Y || AgiT® 5 Sufie 0 3 93] 3R Toad & fUsial & aidl 8l
IULad DYA| & AP H HHiidd lddmed] H 4 Gel GuR @ 9g4 DI ;
1,949 | R I SR FET§
2. 9YT | IR I g e B
3, HYT | 9Bl o, dit Y4 1 TTed &
4, Y| TAd B, Tt &Y 11 B8l B

[Question ID = 348][Question Description = 148_58_LAW_0OCT22_S2_Q48]
1. 1 [Option ID = 1389]
2. 2 [Option ID = 1390]
3. 3 [Option ID = 1391]
4. 4 [Option ID = 1392]



49) Given below are two statements
Statement |: "All human beings are not legal persons”
Statement II: "State is a juristic person”

In light ef the above statements, choose the most appropriate answer from the

options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statemenit || are incorrect
3, Statement | is correct but Statement || is incorrect

4 Statement | is incorrect but Statement |l is correct

ey RuE:

&Y | . 5 A4 [98% =fdT 381 8

HY || ; Iy fd1S® oaiad 81

SITiad Syl & eie & Mgl fAee § § 981 3R @ 95 Bt

1.5 | SR SR
2. @Y | 3R || G T &
3, Y1 G8l &, dih HYA | TTad &
4,FYT | TTEd B, T YT 11 98l B

[Question ID = 349][Question Description = 149_58_LAW_0OCT22_S2_Q49]
1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4. 4 [Option ID = 1396]

50) Given below are two statements
Statement I: Holland defines ownership as "plenary control aver an abject’
Statement Il: Ownership Is either vested er contingent

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement || are incorrect

3. Statement | is correct but Statement || is incorrect

4 Statement | is incorrect but Statement |l is correct

FYT | ; BIGUS o Wi Bl (4] oeg W QUi e & =0 & aftfq fem 81

Y || - Wi grdl Afed 5iaT & fUal SMuTiad |
S HYA! & HTEiE 4 Fgifed fawed § 8 T8I 3R @ 904 it

1.5 AR ISR R R
2. ®YT | R || S oA
3. FYT IR B A FH I Tad B
4, FYF OO E, AT T 1 T B



[Question ID = 350][Question Description = 150_58_LAW_0CT22_S2_Q50]
1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398]
3. 3 [Option ID = 1399]
4. 4 [Option ID = 1400]

51) A, An agreement without consideration is a void contract
B, An agreement in restraint of marriage is a voidable contract
C. An unmeaning agreement is a void contract
D. Anagreement to do impossible acts is a voidable contract
E. An agreement in restraint of legal proceedings is a void contract
Choose the correct answer from the options given below;

1.4 and C anly
2.B and D only
3., Cand E only
4 Eonly

A, fo vfee @1 R U I OfaaT &
g, f9aE @1 Ui JEf R te S diaaT g

clomsd s g Eke e

D. YT ] B Y4 Se PR TP YIHI0G HaeT 8
£, fafiie SR &1 U@ Y64 oIk U@ 99 9iaar g

74 fau U faeed| | 9 U5l 3T o 949 Sl ;

1. A A ARC
2, &t B 3R D
3. HaT A, CHRE
4, FHAAE

[Question ID = 351][Question Description = 151_58_LAW_0OCT22_S2_Q51]
1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]



52) A, Freedom of trade, commerce and intercourse is covered inArticle 301

B. Restrictions on legislative powers of the Union and States with regard to trade and

commerce are covered in Article 302

C. Power of Parliament to impose Restrictions on trade, commerce and intercourse is

covered in Article 302

D. Restrictions on trade, commerce and intercourse among states are covered in

Article 304

E. Appointment of authority for carrying out the purpeses of Article 307-304 is

enshrined in Article 306.
Choose the correct answer from the options given below;

1.4, Band Conly
2.B, Cand D only
3.A, Cand Donly
4.8, D and Eonly

A, TR, GIftTed Td AR @1 Mol H9%56 301 & Adiid ARl &
8. SITUR U4 aIfired © Gl U9 T8 o &1 asTd] Wioadl IR e a8 302 &
FHa AT

C, TIUR, aited T8 T R Fae ARG $3 o) $9E @1 Jeg e 302 &
Sl AT 8

D. 3741 o 81 SR, FI0red U9 AN 9 FE S w55 304 P lid Al &
E. 315G 301 - 304 & J5,%0 P HdIoH og WIUBRI ] Hdied H1=86 306 H 8
i< 15U 7T¢ faed | 4 Tg] 3o @1 99 DI

1.FaAA, B AR C
2, FHad B, C AR D
3. %aw A, C IR D
4, Haw B, DIANE

[Question ID = 352][Question Description = 152_58_LAW_0OCT22_S2_Q52]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]
3. 3 [Option ID = 1407]
4. 4 [Option ID = 1408]



53) A. Courts cannot review the guestion as to what "aid and advice” is given by the
Council of Ministries to the President

B. The question of "aid and advice” by the Council of Ministers is a justifiable issue

C. Article 14 cannot be invoked against discrimination made by constitutional
provisions

D. The guestion of "aid and advice” by the Council of Ministers is a non-justifiable
issue

E. Article 74 can be worked against discrimination made by constitutional provisions
Choose the correct answer from the options given below;

1.4, Band Conly
2.A Cand Donly
3.B, Cand D anly
4 C, Dand E only

A. PR B AETREE GRT ST WerEd AR Gate 41 Sidl & 9F U8 &l T g
TE B TP &
g. AEURYE &1 Werdl ofR Tag &1 U4 I & [9Rarg 951 §

c, Faui-e Sgadl gR1 [ T s & fovs orgsss 14 & olgH e (gl o el
g

D. HEURYE $1 Gl JR T 31 Uy TEey & R R g5 8
E, HauT@ Suayl R (&4 74 [t & [Ges =g 14 1 WA [&a] o1 9&dl &
I fgu e fased| | € 98] IR g9 ;

1. 595 A, B 3R C
. 2.FadACIRD
3, HaE B, C AR D
4, FaEC, DAHRE

[Question ID = 353][Question Description = 153_58_LAW_0OCT22_S2_Q53]
1. 1 [Option ID = 1409]
| 2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

54) The institution of Ombudsman was first developed in

1. India
2, UK
3. France

4. Sweden
HFgSHHA (AimuTe) BRI Uge aR HafaRad 58 & § @l [aoiad gofl ?

1. 4Rd
2.9®
3,16 7



[Question ID = 354][Question Description = 154_58_LAW_0OCT22_S2_Q54]
1. 1 [Option ID = 1413]
2. 2 [Option ID = 1414]

55) A car was sold on ‘'as is' basis and without any warranty or guarantee whatever. After

5 days of the contract, the engine of the car blew up. Discuss the liability of the
seller.

2. The seller is not liable because the car was sold on ‘as is” basis and witheut any
warranty or guarantee

3. The buyer should take care if he buys a second-hand car

4, Under standard form contract, in this case, contributory negligence is applicable

TP OR T TY-RURT & ofTuR O o fadll g srer T & ol | wifder &
5 & Ui, R & $o H fdeme g1 7411 faehdl @ adl i faar S|

ARl Sfya MRS & &l 7 |
3. 5eT] 1 39 1 D1 M TG A6y F11e 98 [H HR Sler 8l
4. 3H AW E e & IS @Y & i, rar SuaT JEuEe grl

[Question ID = 355][Question Description = 155_58_LAW_0OCT22_S2_Q55]

3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

56) Match List | with List I

List | List Il

A. Theory of Justice |. David Hume

B. Idea of Justice Il John Rowls
.  Amartya

C. Nicomachean Ethics )
Sen

D. An Enquiry Concerning the Principles of
Morals
Choose the correct answer from the options given below:
TA-LB-1I,C-1l,D-IV
2ZA-,B-1,C-],D-IV

4A-ILB-LC-1IIl, D-IV

V. Artistotle




! -1 & HIY Gl -l BT el By ;

Jided @ [HEid ¥ 94U gsar

T - Il

A, 2R 3T diked | Sids g
B. AEiaT 3® Ied I1. S e
. FPE T Te (11, S T
D. UH SRR &7 § [W-H0ed 3{1h HRIcH IV, 3RE

d e Tt fawed! & € Ge) 9o &1 99 P ;

T.A-LB-1,C=1I, D-1IV
2ZA-ILB=NILC=I D-IV
3.A-ILB-ULC-1V, D-1
4A-ILB-1,C=1l, D-IV

[Question ID = 356][Question Description = 156_58_LAW_0OCT22_S2_Q56]
1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4. 4 [Option ID = 1424]

57) Given below are two statemenis, one is [abslled as Assertion A and the other

is{abelied a5 Reason R

Assertion A: Nothing is an offence which is done in the exercise of right of private

defence,

Reason R: 7 is carried off by a tiger. A fires at the tiger knowing that the shet may

kill Z, His shot gives Z a mortal wound. & has not committed any offence.

In light of the above statements; choose the correct answer from the options given

below

1. Both A and R are true and R is the correct explanation of A

2, Both A and R are true but R is NOT the correct explanation of A
3.Ais true but R is false

4, Ais false but R is true

Jd &l $Y= QU W § ; U HHBYA (Assertion A) T ©U H IEd & dl gaU 39D
@R (Reason R) aﬁﬂﬂ,
HHHYA A ; FUfFa® &0 B Y T PR & v H o i ouy 78 3

TRUR:ZBISHIBI A ol TEF-d ge HI p Ac Y2 M TPl 6 A S |
R 011 396 Fic - Z B WUHEGE 9 fodl| A Bl 394 T8l 164l

Il YA & HEi® 4 Fgiied el H 4 981 3R &1 984 DI

1.4 3R R G Hel & SR R, A ©1 Tgl & &

2.A 3R R T W & TR R, A B TEN AR TR B
3.A e & Ol R 98l TRl ©

4 ATEI Ol e OlPIRTEI B

[Question ID = 357][Question Description = 157_58_LAW_0OCT22_S2_Q57]
1. 1 [Option ID = 1425]
2. 2 [Option ID = 1426]
3. 3 [Option ID = 1427]



4. 4 [Option ID = 1428]

58) Arrange the following in chronclogical erder starting from earlier to later years:
A, The Trade Marks Act
B. The Patents Act
C. The Design Act
D, The Copyright Act
E. The Protection of Plant Varieties and Farmers’ Rights Act
Chouose the correct answer from the options given below

1.08CDE
2.B,D.AEC
3.D,B,ACE
4ABCED

e = enfye Hfifges a9 € seae Sf9H09- of 9 saeagr g
DI -
A. ¢SHID

B. Ude s

c. feams sffay

D. BIYRTgE gy

£, Urad s 3R T9% Af@R dRem AfHgn
i TqQ 1T faed| 5 4 Wg] SR o1 944 B ;

1. 8B B, E
28.D.AEC
3.D,B.ACE
4 ABCED

[Question ID = 358][Question Description = 158_58_LAW_0OCT22_S2_Q58]
1. 1 [Option ID = 1429]
2. 2 [Option ID = 1430]
3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]

59) National Commission for Backward Classss has besn greated through which
Amendment to the Constitution of India?

. 100" Amendment
. 10}5t Amendment
102" Amendment

, 103 Amendment

da REOE PO -



HIRe TG WIS o e wRile gR1 e fUes1 & S &1 7Te- o
1.100 & H2eH
2,101 af U3

4,103 ?ﬂl‘% t

[Question ID = 359][Question Description = 159_58_LAW_0OCT22_S2_Q59]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]

60) Under Article 338(5) of the Constitution of India, National Commission for Scheduled
Castes has:

1. the power to issue caste certificates
2. the power to revoke caste certificates
3. the power to decide validity of caste certificates

WA SR B ST 338(s) 3 S, TP SRTER S ST @ e A
g

1. FIfd T S @ @ HAER Bl

2. SiIfdl WHTITG I RE, PR @ USRI

3, ST OO 1 el [ o &1 SfieR B

[Question ID = 360][Question Description = 160_58_LAW_0OCT22_S2_Q60]
1. 1 [Option ID = 1437]
2. 2 [Option ID = 1438]
3. 3 [Option ID = 1439]

61) Arrange the following Protecols/Declarations in the correct chronological sequence

A, Kyoto Protocol

B. Cartagena Protocol on Biosafety

C. Montreal Protocal

D. Nagoya Protocol

E. Rio Declaration on Environment and Development
Choose the correct answer from the dpﬁqnsg;fve_ﬂ below

1.EABCD
2.EBCDA "

3.ECABD WP
&"\)”D/

4.ED,CBA




Fafarad reieics / 9I9uuE B 98 SR Hid 68 0 ©el § § SoeHHER S8l 59
&1 90 DL ;
A ®E] Uieidld

B. Sig-TAT3Ydl W SlceHl Hiekpla

c. Hiege vewT Q in)ﬂ
D. TG Wieidie O
E. GafaRur R 3w ox s gigos ?
= Tgu T faspedl & TR SOR @1 99 B ;

JEABCD
EB CD A
ECABD
JED,CE A

B S % N R

[Question ID = 361][Question Description = 161_58_LAW_0OCT22_S2_Q61]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]
3. 3 [Option ID = 1443]
4. 4 [Option ID = 1444]

62) The National Green Tribunal Act, 2010 came into force on
1..10 May 2010
2. 18 August 2010
3,10 December 2010
4.18 October 2010

P B sifdeR HfifaE, 2010 [ 99 Siem F sman 2
1.10 Hg 2010
2,18 3R 2010
3,10 flégE 2010
4,18 3[ETE 2010

[Question ID = 362][Question Description = 162_58_LAW_0OCT22_S2_Q62]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
‘ 4. 4 [Option ID = 1448]



63) Read the following principles of the Rio Declaration on Environment and

Development (1992) and select the correct answer from the given options :

A, Principle 1 : Human beings are at the centre of concerns for sustainable

development

B. Principle 16 : In order to protect the environment, the precautionary approach

shall be widely applied by states according to their capabilities

C. Principle 14 ; Environmental [mpact Assessment..shall be undertaken for

proposed activities that are likely to have a significant adverse impact on the

environment

D. Principle 20 : Women have a vital role in environmental management and

developmient

E. Principle 24 : Peace, development and environmental protection are

interdependent and indivisible

Choose the correct answer from the options given below:

2.BandC only
3.C and E only
4, B and Eonly

TR 3R fAem el oo & Feafaa e o v
A g . T ST e s $3 5 &

8. RISiT-16 : T BRI T &4 & TR Joia¥0 & U4 & 08 Teioan Surd
@1 G +Y O W fdar |

c. Togia-14 ; 39 waIfaa siea & 7 uofakia wHE &1 Jeaie fear ST,
fore wafgen R ufiea v4d 9e- @1 duE gl

D. firzia-20 ; afeensl &1 wofau vey= R fem @ e Teagyl Y 8
£, fogia 24 . mifg, 5o 3 yaiawfig geemr sige- ik owr sfausa 2]
i fGu Tt Ayl 9§ § 981 31 &1 994 S

1. 59T A SRD
2. FEABARC
3, &Had C ARE
4 FAABANE

[Question ID = 363][Question Description = 163_58_LAW_0OCT22_S2_Q63]
1. 1 [Option ID = 1449]
2. 2 [Option ID = 1450]
3. 3 [Option ID = 1451]
4. 4 [Option ID = 1452]



64) The word "Envirenment” has been defined under which of the section of the
Envircnment (Protection ) Act, 19867

1. Section 2(a)
2, Section 2(e)
3, Section 2(d)
4 Section 2({b)

ToiERT (Eee) AfUFTE, 1926 F g Y & il unier weg @) uivyiftg
Tﬂ?ﬁ%:

19T -2

24N -2 (3)

3, §IRT - 2 (EN)

4 /R - 2 (@)

[Question ID = 364][Question Description = 164_58_LAW_O0OCT22_S2_Q64]
1. 1 [Option ID = 1453]
2. 2 [Option ID = 1454]
3. 3 [Option ID = 1455]
4. 4 [Option ID = 1456]

65) Match List | with List 11

List | List Il

A. Application of the Act to electronic cheque and truncated P
cheque

B. Electronic Signature Il. Sec. 81A
. Sacure electronic record Ill. S=c. 15
D. Validity of contracts formed through electronic means IV. Sec. 104

Choose the correct answer from the options given below:
TA-LB-1,C=1I,D-1V
2ZA-1,B-1,C-N,D-1V
FA-0,B-1,C-1V,D-]1
4A-IVB-I,C-1II,D~-]

T -1 & 1Y G - B B B ;

il T -l

. S G oI et G 9 e o
ST YR -

B, STV TR I YRT-18 €
C. goEI e TS U ST 111, ®IRT - 15
D. SEGEI-ic HIEAl § B 713 HiaaT 1 Juar 1'; URT - 10

dia TG Tt fawed] & € Ge) 9o &1 99 P ;

1.A-LB-1,C=1ll, D-IV
2A-1,B-1,C~1l, D-IV
3A-IB-LC-IV, D-TI
4A-IV,B-,C-1l, D-1

[Question ID = 365][Question Description = 165_58_LAW_0OCT22_S2_Q65]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]
3. 3 [Option ID = 1459]



4. 4 [Option ID = 1460]

66) Match List | with List II
List | List Il
A, Voluntarily causing grievous hurt by use of acid 1. 354-4A, |BC
B. Violuntarily throwing or attempting to throw acid I, 326-B, IPC
c Sexual harassment and punishment for sexual
111:354-D, IPC
harassment
D. Stalking V. 326-A, IPC
Choose the correct answer from the options given below:
TA-IV,B-Jl,C-1,D-]l
2ZA-M,B-1,C-N, D=1
3.A-I,B-I0,C-],D-IV
48 -, B-NI,C-],D-IV
Yl -| o7 |14 Gl -1 1 e oiforg ;
G = -
A TS & UG R Woil 9R JUsid ®iid
B eld Tl 354- A SETE
AT
B, TS woomdl o] YTl o ] 9919 BT |1, 326 - B, 315 Ui 4t
; . 354 - D, |
¢, #t-3eigd TR T Selie B 4T i e
IV. 326 - A, o
D. UigT & 5 e
draRu Tt Aee | € Oo) 9o &1 997 PIelg :

1.A-IV,B-1,C-1, D~

2

AL B-ILC=1Y, D=1

FA-ILB-NIL,C=], D-IV
4A-ILB-ILC=I, D-IV

[Question ID = 366][Question Description = 166_58_LAW_0OCT22_S2_Q66]
1. 1 [Option ID = 1461]
2. 2 [Option ID = 1462]
3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]

67)

Match List | with List 11

List | List

A Solomon v. Selomen |. Voting rights

B. Royal British Bank v. Turguand

IIl. Corporate Personality

C. Ashbury Railway Carriage & lron v. Riche
(Ashbury)

1Il. Dectrine of Ultra Vires

D. Vedafene International Holdings v. USI

V.
Management

Doctrine of

Indoor

Choose the correct answer from the options given below:

1.A-IV,B-1,C-1I,D-I
2.A-1B-1,C-1ILD-IV
3.A-1,B-1ILC-1,D- IV
4A-1L,B-IV,C-lIlLD-]




! -1 & 1Y G - B B B ;

q?ﬂ =] -l
A, Gt 9919 SiaEE . 9aH & SHUaR
B, J0q e 9% 999 gois |I. PRURE oHfdda

C. UTER] ¥eTd i USSR g R (e (1, e 3y Riaia
D. AIShH ST sife™ AW L 3lldl. IV, SHeR weyH fasia
d e e fawed! & € Ge) 9o &1 99 P ;

TLA-IWB-ILC-Il D-1
2ZA-LB-1,C=1l, D-IN
3.A-LB-NLC-Il, D-IV
4.A-1,B-IV,C-ll, D-1

[Question ID = 367][Question Description = 167_58_LAW_0OCT22_S2_Q67]
1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]
3. 3 [Option ID = 1467]
‘ 4. 4 [Option ID = 1468]

68) Match List | with List 11

List | List Il
A, Judicial Review I. Indira Gandhi v. Raj Narayan

Il. Keshavanandha Bharati v, State of
Kerela

B. Free and fair election

. Balance between Part Ill and Part |V of the

o 11l, 5:R, Bemmai v. Union of India
Constitution

V. Minerva Mills Ltd. v. Union of
India

D. Secularism

Choose the correct answer from the options given below:

1.A-1B-1I,C-IV,D-1l
2A-1,B-1C-IV, D=1
3.A-IV,B=1,C-1,D-1l
4A-1,B=1V,C-1,D-1I

T -1 & 1Y G - B B B ;

T - = -1

A, 18® GARIGT 1. 2f5g i 59 9 FREn
L Il BEAHE HIRdl §41H Ha

B. Wi SN Hwa g S

C. FE9UM & M- 3T HT-V & aE. THAR 99 8T 4RE

Hgei- il

D. §H s iv. foraf e 9 yRa 9"

dia fGu Tt fawed] & € Ge) 9o &1 99 P ;

1.A-1,B-1I,C-1V, D-1I
2.A-1L,B=1,C=IV, D-]I
3.A-IV,B-1,C-1Il, D-II
4.A-1,B=1V,C-), D-1I

[Question ID = 368][Question Description = 168_58_LAW_0OCT22_S2_Q68]



1 [Option ID = 1469]
2 [Option ID = 1470]
3 [Option ID = 1471]
4 [Option ID = 1472]

A w N -

69) Match List | with List 1l

List | List Il

A, Doctrine  of Pith and|l. What cannot be done directly, cannct be done
Substance indirectly

B, Doctrine of Incidental|ll, The part of statute which is bad cannot be
Encroachment severed from the rest

. A law is not invalid even though trenchad

C. Doctrine of Severability . .
incidentally to another list

D. Doctrine of Colourable ) L
IV. True nature and character of the legislation

legislation

Choose the correct answer from the options given below:

1.A-LB-1,C=1I,D~IV
2ZA-IV,B=Ill;,C-1,D-1l
FA-N,B-ILC=IV,D-]
4.A-IV,B-1I,C-1,D-1

Yl -1 & H1Y Gl -1 BT HAH DIy ;
gl -| g -1l
A @AY HR IR [OEid). T ©Y E 9 fou aH g @l o)
(Slided 310 f0Y US Gegcy)  |HWde ©U ¥ a1 o 9o g
B, e sfiawHn gl |@fEf o1 as v, | gu e S99y
(STae i sfiSea aigHe) [0 g4 ¢l fodl o Todl ol |
. .. Bg off faftr sfafimg 2 va
C. U RiEd @lheeT 3w R S Sl |

Sl
D. fewradt faum fhsia (Sriae
31T Braiad dleeH) Iv. faur @t wel wpla o 2

dia feu Tt fawed] & € Ge) 9o &1 99 P ;

1LA-LB-1,C-1ll, D-IN
2A-1V,B-1I,C-1, D-1I
3.A-IIl,B~1L,C-1V, D-1

4.A-IV,B-Il,C-1I,D~1

[Question ID = 369][Question Description = 169_58_LAW_0OCT22_S2_Q69]
1. 1 [Option ID = 1473]
2. 2 [Option ID = 1474]
3. 3 [Option ID = 1475]
4. 4 [Option ID = 1476]




70) Match List | with List 11

List 1 List Il

A, Post-Modernism l. Grund Nerm

8, Seurce of Law I, Ratio decidernidi
E.recz;:?”w 9 & degsen 4 A 111, Critical Legal Studies
D. Analytical School IV. Volkgeist

Choose the correct answer from the options given below:
TA-,B-IV,C-1,D-|
2A-IV,B-Ill,C-ll,D-1
3A-I0B=-1L,C=-1I,D-1V
41.A-1,B-1,C=IV, D=1l

i -| &5 91y G -1| 1 e oiferg ;

T - T -1l

A, IT- S FGadG 1. 3g 9

B, fafs @1 g 11, Rfrell FERrE=Sr

C. U@ Jddad) & €0 H AU @#TUaR (i, TeE-e® A HerH
D. fazcuTa® [GarRym V. BIaTE e (T AT

da e e fawed] & € Ge) 9o &1 99 P ;

TA-I,B-1V,C-1l, D-I
2A-IV,B-1Il,C-1I, D-1
3A-I,B-1,C=Ill, D-IV
AA-1,B-1,C=IV, D-1Il

[Question ID = 370][Question Description = 170_58_LAW_0OCT22_S2_Q70]
1. 1 [Option ID = 1477]
2. 2 [Option ID = 1478]
3. 3 [Option ID = 1479]
4. 4 [Option ID = 1480]

71)  Greenhouse effect means ;
Increase in atmospheric temperature due to the concentration of greenhouse
2. Growing vegetaﬁiies and ﬁo_wers In increased temperature
3. Growing food crops in glass-houses-
4, Photosynthesis in plants grown in sunlight received in the glass house

IR 7 1S T A © -
2. §¢ U A9 H Glead] R Bl @ 3T
3, T 519 H WY B! @1 3]
4, I BIGH | Ui @1 1% 94 & IRl § 3 gU Uil H We R Xy

[Question ID = 371][Question Description = 171_58_LAW_0OCT22_S2_Q71]
1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]
3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]



72) Match List | with List 11

List |

List Il

Provision

Section

A, Void marriage

I. Section 27, Hindu Marriage Act, 1955

B. Divorce by mutual consent

II. Section 24, Hindu Marriage Act, 1955

C. Maintenance pendente
lite

. Section 13 B, Hindu
Act. 1955

Marriage

D. Disposal of property

IV. Section 11, Hindu Marriage Act 1855

Choose the correct answer fram the options given below:

TA-LB-ILC-V, D=1l
ZA-VB-NLC-I,D-1
LA-NB-IC-1D-V
4A-1,B-L,E-ND-IV

Ul -1 & 1Y Gl -1 Bl HeE Sy ;

CEIERIEER]

Gl -1l 4RT

AT faaw

1. Te=g fadaTe wifafgm, 1955 1 9

-27

B, UREft@ geafa 4 faam-fawg

I feg faare sfufAgH, 1955 &
URI - 24

90T 77T

C. AIAT & TfSe §iH & TR HRU-

. &g fage afufage, 1955 @t
HRI- 139

D. raR &1 FuErl

Iv. feg T afafmm, 1955 @1
§RT- 11

Jrr fou e fawedf & € U8 90 &1 99 Biwg

T.A-LB-1,C-1IV, D~
2A-IV,B-lIl,C-1I, D-1
AA-ILB-ILC=] D-IV
4A-ILB-1,C=1Il, D-IV

[Question ID = 372][Question Description = 172_58_LAW_0OCT22_S2_Q72]

1. 1 [Option ID = 1485]
2. 2 [Option ID = 1486]
3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]

73) Match List | with List Il

List | List I
A, Mersey Dock'e v. Procter I. Statutery Authority
B, Metropolitan lum District v,
, B P I, Vicarious liability

Hill

1. Inevitable
C. Nichels v: Marsland .

accident
O. Holmes v. Mather V. Act of Ged

Choose the correct answer from the options given below:

1.A-I,B~1,C=IV, D=1l
2ZA-N,B-ILC=,D-IV
SA-LB-IL,C= D~V

4A-IVB-ILC-NL D-1




el -1 & "9 gl - P A Sife;

LEE gl -1l

A, T Si9 89 WigeT I, Fifafe® mims
B, e IRU-REY e & fad 11, Tafirs aane

C. @iy S AT e 111, S9REr gher
D. B 19 HIT Iv. adig &

i Tgu e fasped! § 9 5 IR B 997 il ;

1.A-ILB-1,C~IV, D-1I
2A-LB=ILC=I D-IV
FA-LB-I,C=1ll, D-IV
AA-IV,B=IL,C-Il, D-1

[Question ID = 373][Question Description = 173_58_LAW_0OCT22_S2_Q73]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]
3. 3 [Option ID = 1491]
4. 4 [Option ID = 1492]

74) Match List | with List 11

List | List Il

A, Bann Cenventian |. Protection of the Ozane layer

. } . Il. Control of transboundary movements of]
B. Vienna Convention ‘

hazardeus wastes and their disposal

lll. Conservation of migratory species of wild
animals

C. Basel Convention

5 IV. Prior informed censent procedure for certain

. hazarduous chemicals  and pesticides in
Ratterdam Convention

international trade

Choose the correct answer from the options given below:

1.A-1,B-1,C-IV,D-1lI
2A-ll,B=-1,C-1,D-IV
FA-IWB-1LC-1,D=1I
4A-1,B=-1,C-1l, D=1V



Yl -1 & "4 G 1| B e Sty ;
gl -| 1 -

A'ﬁ aﬁlﬁﬁﬁﬁﬂ?ﬁaﬁmﬂ

B, o). Eae SR R 99 Fuer g4 diEuR
HgEY oo @ [=4gaT

Cﬁ EﬁﬂmHmﬁﬁmmﬁﬁhmmﬁmmﬁﬁmﬁﬂﬁm

D. EsH|V. AWPY AUR H DGUd Gawdld wWEA R
i @IEe] & T Gh - e o u

I feu e faed! & | Wl 9o &1 994 $Ie :

1.A-ILB-1C-IV, D-1I
2 A=INE=RCS, D=l
3.A-IV,B-1L,C-I, D-1Il
4.A-1,B-1l,C-ll, D~V

[Question ID = 374][Question Description = 174_58_LAW_0OCT22_S2_Q74]

1. 1 [Option ID = 1493]
2. 2 [Option ID = 1494]
3. 3 [Option ID = 1495]
4. 4 [Option ID = 1496]

75) Match List | with List Il

List | List Il

A, Ramsar Canvention 1. 1992

B, Convention on Biclogical Diversity 111994

C. Minamata Convention 1L 1997

0. The United Natieons Convention to combat
V. 2073

Desertification

Choose the correct answer from the options given below:
TA-I,B-1I,C-IV,D-|
2A-IV,B-ILC-1l,D~]
3A-IL,B-1,C=IV,D-1
4A-1,B-1,C=IV,D-IN

Yl -1 & |14 Y -1 B e Sty

gl -| gl -l

A, AR SAH9Ag |. 1992

B, Sa-fafdea w afigey II. 1994
C. AT it 11l 1971
D. 3R ¥ €U & fog 94 Y e IV. 2013
4 Tqu T faspedl § 9 U5 IR B 997 Bl ; N

1.A-IILB~1L,C-1V, D-1 Q_U'wb

2ZA-WB-ILC-1I D-1

3. A-II,B=~1,C-1V, D-1I W?i

4A-ILB-1,C=1V, D=1

[Question ID = 375][Question Description = 175_58_LAW_0CT22_S2_Q75]

1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]



3. 3 [Option ID = 1499]
4. 4 [Option ID = 1500]

76) Arrange in chronological order the case laws pertaining to cruelty under the Hindu
Marrizge Act, 1955 (year wise from beginning till the latest)

A, Durga Prasanna Tripathy v. Arundhati Tripathy

B. Bhagwat v. Bhagwat

C. Parveen Mehta v, Inderjeet Mehta Uw}ﬂew A
D. Swapan Kumar Das v. Maya Rani Dutta M

E. Satendra Kumar Gupta v. Kanchan Gupta & Ors
Choose the correct answer from the options given below

1.B.C A DE
2ACEDE
3.C D0 ABE
4D CEBAE

feg fagre afifRgm, 1955 @ <fFla ool © U6 fafl & amal &f SeEaaR
(URH ¥ THT FdI0H o g8-aR) TaRd Do :

A T O Bt e S Bt

B, HTad &9 YFad

C. TRAIA Hedl §4F SaXoid Hedl

D. WY PN &¥ 74 A I gl

E. G5 SHR T[] & g 1w U 3=

i fau TT¢ fasedl | 9 U8l 3Tk @1 907 S ;

1.B.CADE
2A,CBDE
3. DA EBE
4D, CBAE

[Question ID = 376][Question Description = 176_58_LAW_0OCT22_S2_Q76]
1. 1 [Option ID = 1501]
2. 2 [Option ID = 1502]
3. 3 [Option ID = 1503]
4. 4 [Option ID = 1504]



77)  In case of theft under IPC, the following ingredients are necessary
A, Dishonest intention to take the property
B, The property can be movable or immovable
C. Property should be taken without the consent of the person
D. There must be some removal of the property
E, The property must be movable property
Choose the correct answer from the options given below;

1.A, B, Dand Conly
2.B,C, DandE only
3.A, C,Dand E only
4.A B, Cand E only

IS, & fevia &Y @R1) & JH0 H FEAREG H 3 HEY uee A9 6
A. it T @1 Y20 WET

B. Ty 91 91 34e & 9@l ¢

c. i @1 WeAfa & fo=1 g o o1 9ifeg

D. G © DY ot @I el S dlied

£, g, 9a 9o g =g

i feu ¢ fased| | § Hg1 SR &1 989 Sl ;

1. 9aT A, B, D AR C
2, %a0E, C,DIRE
3.9 A, C, D IRE
4,HadA, B, C HRE

[Question ID = 377][Question Description = 177_58_LAW_0OCT22_S2_Q77]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]



78) The following is/are the exceptions to the principle of strict liability
A, Act of Ged
B. Consent of the plaintiff
C. Intention of the defendant
D. Act of third party
E. Minority
Choose the correct answer from the options given below;

1.A and B enly
3.4 Cand Donly
4, B and Eonly

Frfefad § 9 o4 R cadisl @ faid & Judc ed & 7
A Cag @

B, JTal @ HgAld

C. Hfdard &7 gual

D. TR U8 BT BT

E, 3O

i feu ¢ fased| | § Hg1 SR &1 989 Sl ;

1. PaT A ARE
2. &dw A, B SR D
3.5a0 A C 3R D
4, FAABANE

[Question ID = 378][Question Description = 178_58_LAW_0OCT22_S2_Q78]
1. 1 [Option ID = 1509]
2. 2 [Option ID = 1510]
3. 3 [Option ID = 1511]
4. 4 [Option ID = 1512]



79) Which ef the following are true with regard to the desertion of spouse under the
Hindu Marriage Act, 19557

A, Factum of Separation

B. Animus deserendl

. Prescribed period of 2 years must have passed before presentation of petition
D. With reasonable cause

E, Without the consent of the petitioner

Choose the correct answer from the options given below:;

1.4, C DandE only
2.8, Cand D only
3.A B Cand Eonly
4.A Band D only

fFafifad & § @i i faa sfiFaE, 1955 & of@ia ufd @1 ol & afimsA
(@G aR A Gale 7

A, HATIEAl dHTHET HIER

B, UfE SHSE (TS (@A) S50

C. T Uy &34 9 0d 2 99 @1 e o @ e 9
D. ggfaa RO Y

E. TifTed! & geHid & (&

i T e fasedl | 9 98 97 1 997 Siieg ;

1. $a0A, C DIRE
2.FawE, C IR D
4 FAAABHARD

[Question ID = 379][Question Description = 179_58_LAW_0OCT22_S2_Q79]
1. 1 [Option ID = 1513]
2. 2 [Option ID = 1514]
3. 3 [Option ID = 1515]
4. 4 [Option ID = 1516]



80) Cheose the correct chronolegical order of the emergence of the schools of
Jurisprudence (earliestto the latest) :

A, Natural Law School, Histerical, Analytical Positivism, Realist
B. Histerical, Natural, Realist, Analytical Positivism

C. Analytical Positivism, Historical, Realist, Natural Law School
D. Realist, Historical, Analytical Positivisim, Natural Law School
E, Realist, Natural, Historical, Analytical Pasitivism

Choose the correct answer from the options given below:;

1. A only
2.B only
3. C only
4 Donly

fafy 2 @ ARyl © s9Ey @ HAEER (U 9 URY &9d 8¢ 9909 99)
aRYd B ;
A, gfie fafe TaruRT, Udeias, axuurEs SaRE®as, Jyrd

g, Ufoeifas, afifs, ayniard Bweuoes ger&EaaG
. guTiard, tefus, Geoee geREEag, Jgiie A MeRyR
£, TrfarE], Jufie, Bieies, ethoas geREEag
I fRu e el § § O IR &1 994 S
1.5ad A
2, Had B
3, BT C
4, HIAD

Question ID = 380][Question Description = 180_58_LAW_0CT22_S2_Q80]
1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4. 4 [Option ID = 1520]



81) Cheose the comrect chronological order of the jurists from the earliest to the |atest:
A, Austin, Bentham, Pound, Halmies
B. Bentham, Holmies, Austin, Pound
C, Bentham, Austin, Pound, Holmes
D. Holmes, Austin, Bentham, Pound
E, Bentham, Holmes, Pound, Austin
Choose the correct answer from the options given below;

1..B anly
2 Either AorB
4 E only

U8 ¥ Y B §U AHGH 0o & AIHI9a] & Siwd & FUR Hel 4 Bl gig ;
A, 3fifeA, SuF, Uids, B

B. SiyH, B1, S, yrds
C. §uH, i, TS, B
D. &1, i, §uH, TS
E, SUH, B, UIG S, i
i oT e fasedl | 9 981 97 1 99 Sl ;

1. &aa B
2.ATIB
4, HAAE

[Question ID = 381][Question Description = 181_58_LAW_0OCT22_S2_Q81]
1. 1 [Option ID = 1521]
2. 2 [Option ID = 1522]
3. 3 [Option ID = 1523]
4. 4 [Option ID = 1524]

82) The following can be appointed as the Chairperson of the National Human Rights
Commission (NHRC)

1. Only a person whe has been the Chief Justice of the Supreme court

2. A person who has been the Chief Justice of the Supreme court or a Judge of the
Supreme court

3. A person who has been the Chief Justice of a High court

4. A person who has been a Judge of the High court



fFrefeiad 4 € I90 AFEiUeR S107 (B O 3R 9)) F 348 o d) R 9 Fge
T o1 gopal 8 7
1, AT e oFiok il Yaled ATy &l 4 G tel ol
2.9 TAfe] o Haled Ao 1 967 i 2iydl Haje A Bl g
3. 98 Hida 9 3= UiIed & T i el
4, 95 oafad &1 aTeTd BT AT W el

[Question ID = 382][Question Description = 182_58_LAW_0OCT22_S2_Q82]
1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]
3. 3 [Option ID = 1527]
4. 4 [Option ID = 1528]

83) Select the right answer from the given options
A, COP 26 ; Glasgow Climate Change Conference
B. COP 25 : Lima Climate Change Conference
C. COP 24: Marrakesh Climate Change Conference
D. COP 22 : Katowice Climate Change Conference
E. COP 21 : Paris Climate Change Conference

Choose the correct answer from the options given below;

1.A and Eonly
2B and Conly
3.B and D only
4,.Cand D only

Fafoiad ol | 3 981 W gt
A W, 26 : TERRT wear] URad- 9Eed
B, T, 25 ; i ioarg aikaa T
C. U131, 24 : ARG Woiary URad- GEeH
D. 413111, 22 - BRI earg UiadT e
E. °1.371.41. 21 - UE Siag URad Sar
il U 77U fased| | 9 HEl TR o1 944 Sy ;

1.5 A SR E

2, A B 3R C

3, @40 B3R D

4,948 C IR D

[Question ID = 383][Question Description = 183_58_LAW_0OCT22_S2_Q83]
‘ 1. 1 [Option ID = 1529]

2. 2 [Option ID = 1530]

3. 3 [Option ID = 1531]

4. 4 [Option ID = 1532]



84) Given below are two statements, one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A : A bigamous marriage is void under Hindu Law
Reason R : A child born out of vioid marriage is legitimate child of his parents

In light of the above statements; choose the correct answer from the options given

below

1.Both Aand Rare true and R is the correct explanation of A

2 aathAamiRmm hut is NQT‘themrm:tEﬁp!maiwﬁ of A
3. A'is true but R is false

4, Ais false but Ris true

TR A A RT TR TF AFYT (Assertion A) T EU H GG & 9 g 59
@R (Reason R) HEIH.
g A - fog ofU & orara faad e 5 21

@O R ; 99 (3418 9 307 9= A9 Ha1-10d] & 45 4dH o
S Y] & HE® 4 Foifed faeed § 8 UE1 3R @ 904 Bt

1.ANRREA AT E AR R Aaﬁﬂﬁw?
2.A IR REFT O B, AFT R, A BT TR
3,A U €, dibI R SO &
403 THE OPIRIA &

[Question ID = 384][Question Description = 184_58_LAW_0OCT22_S2_Q84]
1. 1 [Option ID = 1533]
2. 2 [Option ID = 1534]
3. 3 [Option ID = 1535]
4. 4 [Option ID = 1536]

85) Given below are two statements
Statement I: Persanal rights are inheritable
Statement lI: Legal rights are recognized and enforced by law

In light ef the above statements, choose the most appropriate answer from the

options given below

1. Both Statement | and Statement || are correct
2. Bath Statement | and Statement || are incorrect
3, Statement | is correct but Statement | is incorrect

4. Statement | is incorvect but Statement |l is correct.



FYF - | AlGPId @R amdE g |

@Y - 1) ; [alD SUGR DI U2 AT« Ud aF] fad @ik g |
IULad DYA| & AP H HHlciaa [dbedl H o Hol 0% @1 98- DIee ;

1.5YT 1 3R | g Gel &6l
2. YT | 3R 11 T Tad 8
3, ®YT | T €, ol Y 1 TTd 8 |
4, BYT | IO &, Tl U 1§ B

[Question ID = 385][Question Description = 185_58_LAW_0OCT22_S2_Q85]
1. 1 [Option ID = 1537]
2. 2 [Option ID = 1538]
3. 3 [Option ID = 1539]
| 4. 4 [Option ID = 1540]

86) Given below are two statements, one is labelled as Assertion A and the other

is{abelled a5 Reason R

Assertion A : The ex post-facto laws are laws which veided and punished an act that

had been lawful when dene

Reason R : Imposing or increasing a penalty with retrospective affect for violation of

a taxing statute does not infringe Article 20{1)

In light of the above statements; choose the correct answer from the options given

below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
4, Ais false but R is true

< &l Ty e 0 € ;. TP SHHFYT (Assertion A) %Wﬁﬁf@ﬁ??ﬁgﬂﬂ?ﬁlﬁ?
@R (Reason R) aﬁﬂﬁ,

AU A : TERR (9 98 &Y 8 oo o oiia for 99 & 999 a6l & @
Hd IR Sisd BaT S8

BRI R ; BT 4 a0 SFH & Goou & (a0 Gyl u9iE § fdl snlgvs @i
SHERIGT ST SYal 394 dia Bl HTa56 20(1) BT 3eeiad J6i ¢

Il YA & HEi® 4 Fgiied el H 4 81 3R &1 984 DI

1.A SR RGHI G818 SR R, A DI Ga| A 5

2.A SR RGFIGEl € W= R, A ®I Tel A 76l 5
2 ATER TR EA T

4,A W 8 & 93 A ¥l 6

[Question ID = 386][Question Description = 186_58_LAW_0OCT22_S2_Q86]
1. 1 [Option ID = 1541]
2. 2 [Option ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]



87)

Given below are two statements

Statement I: A ‘negotiable instrument’ means a promissory note, bill of exchange ar
cheque payable either to order of to bearer

Statement II: Holder means any person who for consideration became the
possessor of a promissory note, bill of exchange or chieque, if payable to bearer or

the payee or endorsee

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both Statement | and Statement || are correct
2 Both S’tatement | ana Statement Il are |ncnrrect

3. mmlkcmmmﬂl k;rrgmrreet

4 Statement | is incorrect but Statement |l is correct

FY - | : U% W1 forad &1 o Te Uil A TR mIe R 9 emy W
E Pl eg el 8l

TYF - || - 4RP @1 Y f5Y 99 @fdd ¥ 8 S ufowod @ o @ uined AR,
faag-07 g1 9@ &1 ea T8 dIo &-al 8, 999d (@ YR, Ul ale 91 gRifddl ®f &g

il

SIwiad Syl & eie & M el 3 9 98 9 @ 99 S -

e AR E e
2W|&ﬁ¥u€|=ﬂ~3n9?_1

S

1l e B

4 au:n&msu% ﬁﬁﬂﬂiﬂ?ueaﬁ'l

[Question ID = 387][Question Description = 187_58_LAW_0OCT22_S2_Q87]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4. 4 [Option ID = 1548]

88)

Given below are two statements

Statement I: A childless stepmother is entitled to daim maintenance under the
Hindu Adoption and Maintenance Act. 1936

Statement |I: Under the Hindu Adoption and Maintenance Act. 1936, ifthe son is to
be adopted, the adoptive father or mether should not have a Hindu Son, Son's Son
or Son's Son's:Sen (whether by legitimate blood relationship or by adeption) living
at the time of adoption

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both Stater g
2, Bath Statement I and Statement II are |ncnrreet

3, Statement | is correct but Statement | is incorrect
4, Statement | s incorrect but Statement |l is correct




WY - | ; fog aa® AR HRU-UEY EFEE, 1956 @ AHld WP [HaE diddl |l
fraig-1e &1 aa] B3 B 6Par gl

HYF - || ; feg au® AR YRU-UNY AT, 1956 & Siaiid afa 93 &I Mg ol S
& ol ga® (91 31 911 @1 65 43, U7 1 U4, 93 & O &1 U7 (dle [Oeerg ad gay a1
TG T4 & GR) 711G o & 999 W 98] g1 9Teg|

SULET BYA| & AP H FEfaiaa [dhedl H H Hol 90k @1 98- DIuU ;

1, Y | 3R 1| S FET B 1
2. BYF | 3R 1 GH TEd
3, YA | G8l 5, diod BYE |1 TTad 8
4, YT | TS B, T P 1| T8 B

[Question ID = 388][Question Description = 188_58_LAW_0OCT22_S2_Q88]
1. 1 [Option ID = 1549]
2. 2 [Option ID = 1550]
3. 3 [Option ID = 1551]
4. 4[Option ID = 1552]

89) Given below are twa statements

Statement I; Every public company shall have at |least three directors and every
private company shall have at least two directors.

Statement lI: There can be a maximum of 15 directors and for having more than 15
directors, the company may pass a special resolution,

In light ef the above statements, choose the most appropriate answer from the
options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statement || are incorrect
3, Statement | is correct but Statement | is incorrect
4 Statement | s incorrect but Statement |l is correct

HY - | : Ud® GAGHS 041 § Gaa8 dF He3@ sl AR Gd® el sl o
aH &l Heu® gl

&Y - || ; HGFHaH 15 FGTF 5l GPd & AN 15 9 S HoIHl B 3@ & (06 S|
U 99 URTE UTid & 9@l ol

Il BYA| & HEI® 4 FREieiad [l H 8 el 3T 1 99 Hie -

1. Y | 3R 1 TH T &

2, FYF | AR (1 GHF ATT 8

3, HYF | 9 §, cilcp] BYA || 3T 8
4, FYF | HEAEE, OoT o4 11 I8

[Question ID = 389][Question Description = 189_58_LAW_0OCT22_S2_Q89]
1. 1 [Option ID = 1553]
2. 2 [Option ID = 1554]
3. 3 [Option ID = 1555]
4. 4 [Option ID = 1556]



90) Given below are two statements

Statement |: A becomes surety to C for B's conduct as a manager in C's bank
Afterwards, B and C contract, without A's congent that B's salary shall be raised and
that he shall become liable for one-fourth of the losses on overdrafts, B allows a

customer to overdraw and the bank loses a sum of money,
Statement II: A is liable to make good the loss as he is a:surety to C for B's conduct,

In light of the above statements, choose the most appropriate answer from the

options given below

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement 1l are incorrect
4, Statement | is incorrect but Statement Il is correct

HYF - | Ul & 9P § U JOUP & ©U H U, & & R & (a8 91 Bl Wiy (FEiRe)
01 & | §9% 91, U @1 HeHi @ (&7 41 3R O 9i5a $d ¢ [ & & a0 J 9ie B
Sl 3T 98 SagIeE W gl & o ue-aviE ol 89 UE UIe® ®1 SiEEe
(TS YFRITRT ) Rl & 3R &® ] U Y01 @1 5l aial 8|

@Y - 1) TEIH @I Ufd & [c1t GRl & @4l dg o] o S0l & [ Ui @l UiaH &
SIwiad Syl & eie & M el 3 9 98 9 @ 99 S -

1.9YT I ARG I8
2. @Y | AR |1 G 2T 8
4, BY9 | HGA g, Tie B || A §

[Question ID = 390][Question Description = 190_58_LAW_0OCT22_S2_Q90]
1. 1 [Option ID = 1557]
2. 2 [Option ID = 1558]
| 3. 3 [Option ID = 1559]
4. 4 [Option ID = 1560]

Topic:- 58_PARTB_S2



1

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm

or principle known as Pacte sunt servanda. This means that agreements entered
into by States will be respected and followed by them in good faith. This is a well
established and recognised custom of international law, The customary principle of
international law has now been codified and finds mention in Article 26 of the
Vienna anuentien-on the Law of Tn_eati_es‘_ 1969

The principle of Pacta sunt servanda is also based on the actual practice of the
States. |t emphasises the importance of the agreement entered into by States and
regards them as the basis of international law.

There is a view that to assert the binding force {:f:inter"r'r_ati'(;)nai law is‘based only on
the principle of Pacta sunt servanda is far from the truth, It fails to explain the
binding force of customary rules of intemational law which are not based on
agreement between States. The realisation that international customary law does
not rest on agreements and that the tenst, Pacta sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of international law - "States ought to behave as they have
customarily behaved'.

Which of the following is correct?

1. Pacta sunt servanda is an absolute principle
2. Pacta sunt servanda covers unegual treaties also

4. Pgcta sunt servanda explains the binding force of customary rules of
international law
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[Question ID = 391][Question Description = 191_58_LAW_0CT22_S2_Q91]
1. 1 [Option ID = 1561]
2. 2 [Option ID = 1562]
‘ 3. 3 [Option ID = 1563]
4. 4 [Option ID = 1564]




2)

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm
or principle known as Pacta sunt servanda. This means that agreements entered
into by States will be respected and followed by them in good faith. This is a well
established and recognised custom of international law, The customary principle of
international law has now been codified and finds mention in Artide 26 of the
Vienna Convention on the Law of Treatjes, 1969

The principle of Pacta sunt servando is also based on the actual practice of the
States. |t emphasises the importance of the agreement entered into by States and
regards them as the basis of international law.

There is a view that to assert the binding force of international law is based only on
the principle of Pacta sunt servanda is far from the truth, It fails to explain the
binding force of customary rules of intemnational law which are not based on
agreement between States. The realisation that intemational customary law does
not rest on agreements-and that the tenet, Pacte sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of international law - ‘States ought to behave as they have
customarily behaved'.

The cedification of Pacta sunt servgnda finds a mention in which Article of the
Vienna Convention-on the Law of Treaties, 19697

1. It does not find mention in the Vienna Convention on the Law of Treaties; 1969
2. Article 26

3. Arﬁcie 2

4 Article 47
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[Question ID = 392][Question Description = 192_58_LAW_0CT22_S2_Q92]
1. 1 [Option ID = 1565]
2. 2 [Option ID = 1566]
3. 3 [Option ID = 1567]
4. 4 [Option ID = 1568]



3)

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm
or principle known as Pocto sunt servanda. This means that agreements entered
into by States will be respected and followed by thent in good faith. This is a well
estahlished and recognised cusiom of international law, The customary principle of
international law has now been codified and finds mention in Articdle 26 of the
Vienna Canvention-on the Law of Treaties, 1959

The principle of Pacta sunt servando is also based on the actual practice of the
States. |t emphasises the importance of the agreement enterad into by States and
regards them as the basis of international law.

There is a view that to assert the binding force of international law is based only on
the principle of Pacta sunt servandg is far from the truth, It fails to explain the
binding force of customary rules of international law which are not based on
agreement between States. The realisation that international customary law does
not rest on agreements and that the tenet, Pacte sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of international law - 'States ought to behave as they have
customarily behaved',

The literal meaning of Pacta sunt servanda is

1. Pacts are sacred
2, Pacts are good servants
3, Pacts need not be observed

fraifea e @1 o ¥ ufen of wy ¥ oW St :
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[Question ID = 393][Question Description = 193_58_LAW_0OCT22_S2_Q93]
1. 1 [Option ID = 1569]
2. 2 [Option ID = 1570]
3. 3 [Option ID = 1571]
4. 4 [Option ID = 1572]

4)

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm
or principle known as Pacto sunt servaindo. This means that agreements entered
into by States will be respected and followed by them in good faith, This is a well
established and recognised custom of international law, The customary principle of
international law has now been codified and finds mention in Article 26 of the
Vienna Caonvention on the Law of Treaties, 1969

The principle of Pacta sunt servands is also based on the actual practice of the
States. |t emphasises the importance of the agreement enterad into by States and
regards them as the basis of international law.

There is a view that to assert the binding force of international law is based only on
the principle of Pacta sunt servanda is far from the truth, It fails to explain the
binding force of customary rules of intemnational law which are not based on
agreement between States. The realisation that international customary law does
not rest on agreements-and that the tenet, Pacta sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of internaticnal law - 'States ought to behave as they have
customarily behaved',

To which docs the passage give primacy, Pacta sunt servande or the principles of

customary international law?

1, Pacta sunt servanda
2

Principles of custo

3, Both Pacta sunt servanda and thﬂ pnnuptes of customary international law

4, Neither Pacta sunt servandd nor principles of cusiomary international law
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[Question ID = 394][Question Description = 194_58_LAW_0OCT22_S2_Q94]
1. 1 [Option ID = 1573]
2. 2 [Option ID = 1574]
3. 3 [Option ID = 1575]
4. 4 [Option ID = 1576]



5)

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm
or principle known as Pacto sunt servanda. This means that agreements entered
into by States will be respected and followed by them in good faith. This is a well
established and recognised custom of international law, The customary principle of
international law has now been codified and finds mention in Artide 26 of the
Vienna Convention on the Law of Treatjes, 1969

The principle of Pacta sunt servando is also based on the actual practice of the
States. |t emphasises the importance of the agreement entered into by States and
regards them as the basis of international law.

There is a view that to assert the binding force of international law is based only on
the principle of Pacta sunt servanda is far from the truth, It fails to explain the
binding force of customary rules of intemational law which are not based on
agreement between States. The realisation that intemational customary law does
not rest on agreements-and that the tenet, Pacte sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of international law - ‘States ought to behave as they have
customarily behaved'.

Kelsen focuses on

Jebrimacy of Padd sunt servandg . '

2. State behaviour being in conformity with customary internatianal law

3. Pacta sunt servanda being responsible for the growth of customary international
law

4, Pacta sunt servandg being independent of the prindples of customary

international law
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1)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the peaple; in India the people had to come to justice
(The litigant) hiad to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Around the Courts were swarms of petty
lawyers whao had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came to us at all. Many
were deterred by difficulties in the way, many dared not come for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

What are the challenges:-for a litigant to seek justice in India and England 7 Choose
the best option fram the following:

1. There are no challenges, The passage is silent about this.
2. There are mariy challenges that are difficult to summarise

4. The way to the tribunal is easy and the litigant in India need nor dread at all
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2)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the people; in India the people had to come to justice
(The litigant) had to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Around the Courts were swarms of petty
lawyers whao had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came to us at all. Many
were deterred by difficulties in the way, many dared not come for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

What are the chances of suiccess of any litigant? Choose the most appropriats

altsWer;

1. The chance of success work orly if he puts the hands of pet

2. He need niot beware ofitellir'rg the truth

3. Cases on both sides were usually not concoted

4. There were no difficulties and the injured person could approach the court
easily
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3)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the peaple; in India the people had to come to justice
(The litigant) had to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Areund the Courts were swarms of petty
lawyers who had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came ta us at all. Many
were deterred by difficulties in the way, many dared notcome for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

Whether, in the strange cases, there were any common grounds?

2, All grounds were common

3. Witnesses were not tutored
4 All witnesses were tutored
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4)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the people; in India the people had to come to justice
(The litigant) had to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Around the Courts were swarms of petty
lawyers whao had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came to us at all. Many
were deterred by difficulties in the way, many dared not come for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

In the passage, it is said that all the genuine disputes never reached the courts.

Choose the comrect answer;

2, Parties to the cases were not the real parties in many cases:

3, Many witniesses are not the real witnesses
4, Real parties were puppets of others and not the real parties
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5)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the people; in India the people had to come to justice
(The litigant) had to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Around the Courts were swarms of petty
lawyers whao had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came to us at all. Many
were deterred by difficulties in the way, many dared not come for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

Mary injured persons never came to the courts because of the following reason:

1. They were deterred by difficulties in the way
2. They had no interest

3. They were not sure to win

4, They could not arrange witnesses
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2. 2 [Option ID = 1598]

3. 3 [Option ID = 1599]

4. 4 [Option ID = 1600]

Topic:- 13_GP_SH1_S2_A



D The fﬁl]DWing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The number of Colleges offering the Python course is more
than 460 in

1. All the four states
2. Only three states
3. Only two states’

4, Only one state
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{wu% e S S

SfdeRu
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A 186%: (74959 % 56 9% (35 %

B |80% [029%82 % 349 |15 9%

C |[74% (658 %[84 % 36 % (20 %

D 1689% |64%68% 70 % 130 %

UI3Y UIGUEH B 34 a0 Helaaiadl &) 9ea
ot g d s 40 G 3T & -

1. i ARt

2. A o el |

3. @aa Gl U A

4 B TP T H

[Question ID = 701][Question Description = 101_0_GP28_0CT22_52_Q01]
‘ 1. 1 [Option ID = 2801]

2. 2 [Option ID = 2802]

3. 3 [Option ID = 2803]

4. 4 [Option ID = 2804]



2) The fﬁl]DWing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The total number of Colleges-offering Al in all the four
states is
1.2784
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1.2784

2.2816

3. 2864

4 28952

[Question ID = 702][Question Description = 102_0_GP28_0CT22_52_Q02]
1. 1 [Option ID = 2805]
| 2. 2[Option ID = 2806]
3. 3 [Option ID = 2807]
4. 4 [Option ID = 2808]



3) The fﬁl]DWing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

if M and N represent the total number of Colleges offering
Python and Java, respectively, in all the four states, then M-
N=

1.64

2.96

3.48

4.32
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B |80% [029%82 % 349 |15 9%

C |[74% (658 %[84 % 36 % (20 %

D 1689% |64%68% 70 % 130 %

ofg ot IR Il 8 9rgyH IR A s @i g
AeTfaered @ UE HA%: M RN & ¥ § Iqd @178
g M-N=

1. 64

2.96

3.48

4.32

[Question ID = 703][Question Description = 103_0_GP28_0CT22_52_Q03]
1. 1 [Option ID = 2809]
2. 2 [Option ID = 2810]
3. 3 [Option ID = 2811]
| 4. 4[Option ID = 2812]



4) The fﬁl]DWing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Ratio of the number of Colleges offering Multimedia in
State C to that of State D is

1.2:3

2.13:13

3.14:17

4.13:16
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B |80% [029%82 % 349 |15 9%
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T C § Ao Hiiea A H ale Agiaaiadl ol e @
ST 3058 D &1 HUg a1 g ;

1.2:3

2,.11:13

3.14:17

4 13:16

[Question ID = 704][Question Description = 104_0_GP28_0CT22_52_Q04]
1. 1 [Option ID = 2813]
2. 2 [Option ID = 2814]
3. 3 [Option ID = 2815]
4. 4 [Option ID = 2816]



%) The fﬁl]DWing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Number of Colleges offering Java in State B is ----% of the
number of Colleges offering Al in State C,
1.78.15
2.8023
.B2.25
. B4.52

P
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1.78.15

2.8023

3.82.25

48452

[Question ID = 705][Question Description = 105_0_GP28_0CT22_S2_Q05]
1. 1 [Option ID = 2817]
2. 2 [Option ID = 2818]
3. 3 [Option ID = 2819]
4. 4 [Option ID = 2820]

Topic:- 13_GP_SH1_S2_B
L Which of the following Developmental areas of individual
differences will be effected, if a Child opts for frequent out
bursts and throws tantrums?

1. Social

2. Mental

4. Physical



fafirast & Fufaies 3 4 90 e &3 uufes
7

1. TS

2 JAFS

3. HaTTED

4, TRIRS

[Question ID = 706][Question Description = 106_0_GP28_0CT22_S2_Q06]
1. 1 [Option ID = 2821]
2. 2 [Option ID = 2822]
3. 3 [Option ID = 2823]
4. 4 [Option ID = 2824]

2) Which of the fellowing is outside the Teacher-
Centric Methed?

1. Demonstration

2. Team teaching

3. Inquiry approach
4, Lecture method

Fafotea ¥ 4 oF Ree-oisd A & srria 381 o &2
1. el
2. 54 (&) FRam
3. S IUFTH
4, H a1y

[Question ID = 707][Question Description = 107_0_GP28_0CT22_S2_Q07]
1. 1 [Option ID = 2825]
2. 2 [Option ID = 2826]
3. 3 [Option ID = 2827]
4. 4 [Option ID = 2828]

3) Which aspect indicates to be the most relevant in decision
miaking process according to Kohlberg's theory of moral
development 7

1. The age of the Child

2, Knowledge of Law

3. Influence of friends and Siblings

4. How the child arrives at Conclusion

Digaat & D [GDTH B G&id B HTaR g Hiear
BT 9§ Gand® Wigi® g @] AR 3i1d deal 87

1. 5 @I Y

2. T @ TH

3. T3 g welaR] @1 0HE



[Question ID = 708][Question Description = 108_0_GP28_0CT22_52_Q08]
1. 1 [Option ID = 2829]
2. 2 [Option ID = 2830]
3. 3 [Option ID = 2831]
‘ 4. 4 [Option ID = 2832]

4) Which among the following are the MOOCs; Platforms 7

A. Google Mest
B, Coursera

C. Zoom

D. Future Learn
E. Turnitin

Choose the correct answer from the options given below,
1.A Dand E only
2.B, D and E ornly
3.8 and D only
4. C and D only

T T 9 oH 4@ <o (49 §7
A TITE HIZ
B. BT
C. 9H
D. W @
E. TR
74 feu U fasedl § 4 W1 SW g ;
1. 390 A DR E
2. &dd B, D AR E

3. ¥ade D
4. FIACIIRD

[Question ID = 709][Question Description = 109_0_GP28_0CT22_52_Q09]
1. 1 [Option ID = 2833]
2. 2 [Option ID = 2834]
3. 3 [Option ID = 2835]
4. 4 [Option ID = 2836]



%) Match List | with List 1l

List | List I

-Il_-ey::ns;:; Meaning

A. Factual I. This Learning is used to organize
Learning informatian in logical structure

B. Association |Il. This Learning is used to develop
Learning personality and think coherently

C. Conceptual |[lIl. This Learning is used to organize
Learning sequence of activities to achieve a goal
D. Procedural |1V, This Leaming is used to connect with
Learning information more deeply and accurately

Choose the correct answer froam the options given below:
TA-ILB-ME-LD-1Il
ZA-ILB-LC-NIlLB-IV
A-ILB-L,E-VD-1
4A-N,B-LC-IV,D-1

gl - -1l

A & PR |y

A THRD I, 56 HRITH &1 3TN g9 3 dlio® 9

HieH TiTiad @3 B fobg1 Sl 81

- \\. 39 HTATH T ST Sfadd AR G

= o & fa@Td o far o o

C. 9@meHET |1 39 A @1 Iuah fdl @ey @l ura

SR TR & S Bl Hildd - ag 1o
. 59 ST & STANT HUE e adid «

D'ﬁm IRE[S dii® O G & 9 9dG &4 ag
GG

2 Ru e fawadl § 9 W S g

TA-ILB-IV,C-LD-
2ZA-WB-LC-,D- IV
3.A-ILEB-NE-IV,D-I
4.A-U,B-1,C-IV,D-1Il

[Question ID = 710][Question Description = 110_0_GP28_0CT22_S2_Q10]
1. 1 [Option ID = 2837]
2. 2 [Option ID = 2838]
3. 3 [Option ID = 2839]
4. 4 [Option ID = 2840]



6) One of the aims of qualitative data analysis is to

1. Expand the Selected text or material
2. Analyse the researcher's credentials

4, Focus on binary ! issection

eS| & oIS fawyY & ael H A TP B
1 mﬁa%mﬂmﬁﬁﬁmwm

[Question ID = 711][Question Description = 111_0_GP28_0CT22_S2_Q11]
1. 1 [Option ID = 2841]

4. 4 [Option ID = 2844]
7) — . N
Virtual ethnography is Iocated in a/an
1. Natural environment
3. Political environment
4. Economic environment

1. Fufie aRkas

4. 3T ufeam
[Question ID = 712][Question Description = 112_0_GP28_0CT22_52_Q12]

1. 1 [Option ID = 2845
!. ! ‘!ptlon != !!!l

4. 4 [Option ID = 2848]




8) The major ethical aspects of survey based research are;

A, Protection of Participants from any kind of harm.
B. Publicise the engagement of participants

C. Distinguish between different Strata of People.
D. Not to affect individual Privacy,

E. Use individual Privacy for Private Profit,

Choose the correct answer from the options given below,
1.A Band Conly
2.B, Cand D only
3.A Cand Eonly
4.A and D only

A& e Ty & U AT0® Ued e ;

A, GEMIFT! &1 68l TSR ®I 5114 4 ST

B, GEHITT & Gl B alp oy &

C. Tl At &R & &g 3 H1

D. SHGHTH [Feidl @1 WHifad el He1

E. el @ & Fore oufakrTd fHisfal &1 SudRT @Al

I feu e famadl 4 G e ST g -
1. BT A, B IR C
2. FaF B, CHARD
3.Fad A CHRE
4. Had A JRD

[Question ID = 713][Question Description = 113_0_GP28_0CT22_S2_Q13]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]
3. 3 [Option ID = 2851]
‘ 4. 4 [Option ID = 2852]



%) Which of the following are advantages of content analysis?

ftisa;

A, Transparent research method

B. Non- reactive method

C. Flexible method

D. Method that does not need a coding manual
E. Method that is free of any kind of framework

Cheose the correct answer from the options given below:
1.A Band Conly
2.B,Cand D only
3.C, Dand Eanly
4. A DandEonly

Pt # 4 - R o AR s oy g -
A, URGRI iy iafy

B. TR~ Wil ares wiay

C. T Tidfy

D. WiaTY TS SITST A3 B SMaeadd 7ol &
E. vfafy i fordll v @ SUC@ G g §

7 f&u e fawedl § € 981 SR 9 ;
1. 590 A B AR C
2. HA B, C HX D
3.PadC DANE
4, FadA DANE

[Question ID = 714][Question Description = 114_0_GP28_0CT22_52_Q14]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]
3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]



10 .
) Given below are two statements

Statement |: Positivism Says that Sciences need not be

free from Speculative and metaphysical approaches

Statement ll: Positivism is Suitable for natural Sciences

In light of the above statements, choose the most
apprapriate answer from the optians given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement || is incorrect
4. Statement | is incorrect but Statement Il is correct

FaciavAE RumeE:
Y - | : TUSATE Bodl & [0 199 B HTAHFE HR
wHifaE =P € gad 5 B HaaHdl Tel o

HYF - || ; UHEATE TPfiawe & HPa o

IulE DYA| & D o FHldiaa [aedl H U Oel 9w
T -

1. ®YT | 3R 1 GH TRl €l

2. Y | AR 1 gH TS B

3@ 190 e, g ey 1T B |

4. FYT | SEA T, g DY 1 Wl B

[Question ID = 715][Question Description = 115_0_GP28_0CT22_52_Q15]
1. 1 [Option ID = 2857]
2. 2 [Option ID = 2858]
3. 3 [Option ID = 2859]
4. 4 [Option ID = 2860]

L Media messages consist of various layers of

1. Rationalisation

2. Complex resistance
3. Palymerphi mesning
4. Restrictive rituals

Hife dexit & Fafofes & @ oo Rty R e & -
1. Gifaa@ e
2, FE oiaa
4, Oidide® FIEH

[Question ID = 716][Question Description = 116_0_GP28_0CT22_S2_Q16]
1. 1 [Option ID = 2861]
2. 2 [Option ID = 2862]
3. 3 [Option ID = 2863]
4. 4 [Option ID = 2864]



12) A source of Communicative inefficiency is

1. Dgsi‘re for Personal gratification
2. Implications of familiar relations
3. Peer Pressure

HUHT & @1 EId HEiaa 5 4 @iF 9l ?
1. ST SO & 36|
2. guRiad Seyl & Ffsad

3. GHEE] 31 99

[Question ID = 717][Question Description = 117_0_GP28_0CT22_S2_Q17]
1. 1 [Option ID = 2865]
2. 2 [Option ID = 2866]

13) Which of the following are elements of congenial

classroomy atmosphere?

A. Creating a condu cive atmosphere

B. Engaging in individual efforts
C,_Su_ppqrﬁv_e_ teany work

D. Negotiahle movement ir_:sfd'_e‘thfe classroom
E. Immersive ljsteni‘ng

Choose the correct answer from the options given below;

1.A BandE t;mli

3.8, Cand D only
4.C, Dand Eanly




fafafad 5 ¥ ®F | Hos o&T aaay @ 9d o7
A, T Qa1aeo @ a1

B, TfeaTTd HarEl & Iiad gl
C. ggarfidm ol
D. H& & Hic [AAag Maras

£, Fewad® sam

I fau e famadl 4 G Wel S 9 -
1. 990 A, B ARE
2. ad A, C3RE
3.&Hdf B, C AR D
4 FaACDIANE

[Question ID = 718][Question Description = 118_0_GP28_0CT22_S2_Q18]
1. 1 [Option ID = 2869]
2. 2 [Option ID = 2870]
3. 3 [Option ID = 2871]
4. 4 [Option ID = 2872]

14) Which of the following can be categorised as non-verbal

communication?

A, Pleasant Voice

B, Postures

C. Gestures

D. Facial expressions

E. Viociferous greetings

Choose the correct answer from the options given below:,
1.4, Band Conly
2.8, Cand Eonly
5. C, D and E only
4.8, Cand D only



FgiaRaa & 4 oy TR-a1g® Uy & &4 5 4Ujas [edl
AIFAE 7

A, TR &R

B, HiE

C. Tba (FE9)
PERREIRREIEEE]
E. SNGR g

Id fau Tt fagad! § 4 waife 3ugen 9o &1 997
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1. BT A, B IR C

2, FaE B CHRE

3.PadAC DIANE

[Question ID = 719][Question Description = 119_0_GP28_0CT22_S2_Q19]
1. 1 [Option ID = 2873]
2. 2 [Option ID = 2874]
3. 3 [Option ID = 2875]
‘ 4. 4 [Option ID = 2876]

1 5
%) Given below are two statements

Statement I: Most of the time, communication is loaded
with pewer value,

Statement II: Those who do not have the power of
gommuriication always seek to possess it,

In light of the above statements, choose the most
appropriate answer from the optiens given below
2. Both Statement | and Statement || are incorrect
3. Statement | is correct but Statement || is incorrect
4. Statement | Is incorrect but Statement |l is correct



el ey BumE.

HYF - | - AUBTE: YUYY B Iy e a9 9 93 Ted
2

&Y - 1| ; fore gg diny S wiea g el e 4 ea 2g
sSfgEETaRd ol

Iuled YA & HEID 3 FEidiad [Geedl 3 Y Hel 9w

gz
1. %5 | 3R I SR
2. ®YA | R 1 GH TEd B |
3.0y Td e, g @y 1 Tad 8 |
4. Y| FHA T, g P 1| TET &

[Question ID = 720][Question Description = 120_0_GP28_0CT22_52_Q20]
1. 1 [Option ID = 2877]
2. 2 [Option ID = 2878]
3. 3 [Option ID = 2879]
4. 4 [Option ID = 2880]

16) One day a man left his home for a morning walk and went

12 km southwards. He then turned right and walked 8 km.
Again turned right and walked 12 km, turned left and
walked 10 km. How many Killometers the man has to-walk
to reach straight to his home?

1.22 km
2,18 km,
3. 20 km
4. 24 km

T o1 0P o Yoo &1 OR & 100 R 4 o 31X 12
fosi] STRIT &1 31 7111 98 I9® 916 Glfe- SR 43T SR 8
foell = | Us R 1 Tife- J31 IR 12 6 9ar he el
SR gS1 3R 10 oo o | oidd @ 419 294 R Yga &
fore fva Toaiie 9o g7

1.22 foordl

2. 18 foreft

3. 20 Tt

4. 24 Tt

[Question ID = 721][Question Description = 121_0_GP28_0CT22_52_Q21]
1. 1 [Option ID = 2881]
2. 2 [Option ID = 2882]
3. 3 [Option ID = 2883]
4. 4[Option ID = 2884]



17 The price of a jewel, passing three hands, rises on the

whole by 65%. If the first and second sellers eamed 20%
and 25%: profit respectively, find percentage profit earned
by the third seller.

1.10%

2.15%

3.16%

4.12%

4! 1 @1 9oy, JiF [dearal § T[ed g¢ G9Yd: 65% 96
SIdl 81 9 Uy SR Tgai fadhal o SH: 20% 3R 25%
AT T 81aT &, @ gaid [desal g Hfsid afad oy 31
Hifon?

1.10%

2.15%

3.16%

412 %

[Question ID = 722][Question Description = 122_0_GP28_0CT22_52_Q22]
1. 1 [Option ID = 2885]
2. 2 [Option ID = 2886]
3. 3 [Option ID = 2887]
4. 4 [Option ID = 2888]

18) In an examination 42% students failed in Mathematics and

52 % failed in Science, If 17% failed in both the subjects,
find the Percentage of those Who Passed in both the
subjects,

1.23%

2.25%

5.27%

4.30%

feoelt ol = 425 faamff 7o & ool 810 & ok s2%
G & ol 810 1 3fe 17 ot gt fauat 3§ sl
STl &, 1 & faudl & I g1 aTd faenial @1 uiasd 3
B ;

1.23%

2.25%

3.27%

4.30%

[Question ID = 723][Question Description = 123_0_GP28_0CT22_52_Q23]
1. 1 [Option ID = 2889]
2. 2 [Option ID = 2890]
3. 3 [Option ID = 2891]
4. 4 [Option ID = 2892]



19) A 729 ml of a mixture contains milk arnd water in the ratio

of 7 ; 2. How much more water is to be added to get a new
mixture containing milk and water in the ratio of 7 : 37
.81 mi
2.90 ml
3.85ml
4.75ml

7% 729 el & Fyo d gu SR wa @1 U 7.2 8, 91 72
@ U1 H qY SR S o (Y9 Bl UIE & & (68 fda]
1.81 faelt
2. 90 ol
3. 85 ol
4,75 Tt

[Question ID = 724][Question Description = 124_0_GP28_0CT22_52_Q24]

1. 1 [Option ID = 2893]
2. 2 [Option ID = 2894]
3. 3 [Option ID = 2895]
4. 4 [Option ID = 2896]

20) Find the next term in the series given below.

124, 148, 196, 268, 364, 7
1. 484
2. 584
3. 464
4. 268

= G1 773 S 5 e UG §id GBI ;
124, 148, 196, 268, 364, 7

2.584

3. 464

4, 268

[Question ID = 725][Question Description = 125_0_GP28_0CT22_52_Q25]
1. 1 [Option ID = 2897]
2. 2 [Option ID = 2898]
3. 3 [Option ID = 2899]
4. 4 [Option ID = 2900]



21) Which of the following statements are logically equivalent?

A NoPisS

B. Some S are non-P

C. Some non-P are not non-5
D.Some S are not P

Choose the correct answer from the options given below;
1.B and Conly
2. C and D only
3.B.Cand D enly
4 4B CandD

Feifrd s S oH 4 @y aib® ef 4 F9H &
A BIRPSTo edIel

B. PO STR-PE &
CPBIRPIRSTRI el gl

D.©®S PHsleld &

d fau 71C fadedl 4 4 el IR 91 :
1. Haa B AR C
2.%dd C SR D
3.®au e, CHRD

4.A B C3HRD

[Question ID = 726][Question Description = 126_0_GP28_0CT22_S2_Q26]
1. 1 [Option ID = 2901]
2. 2 [Option ID = 2902]
3. 3 [Option ID = 2903]
4. 4 [Option ID = 2904]

22) "Considering the Speech given by the School Principal

taday, | would conclude that he is'net a good
Public Speaker.” Identify the informal fallacy committed in
the above argument.

1. Slippery Slope

2. Ad hominem

3. Appeal to force

4. Hasty Generalisation



317 faeTed & WrErd §R AT T8 4160 o fEER Bd gU A
T s el 1 98 9w ol daar el & | SudE
o 7 ST S o oY @ TR FI

1. TR =Y

2 TS EEm

3. §0-3T7%

4. W@id SIS

[Question ID = 727][Question Description = 127_0_GP28_0CT22_52_Q27]
1. 1 [Option ID = 2905]
2. 2 [Option ID = 2906]

23)  \Which of the following s true regarding Inductive

argument?
1. if all the pre_m?se_s are true, the conclusion must be
true. _
3. It claims to Suppart its conclusion conclusively
4. Conclusion is:_ﬁpmpleteiy mntain_e_d already in the
premises

ITET Jed @ X 8 o 91 By 98l B ;
1. 3% Tt SuR arag wd § o e sffFarda: e g
=eel

43@%@% qaaammmﬁaﬁﬁgam

[Question ID = 728][Question Description = 128_0_GP28_0CT22_52_Q28]

1. 1 [Option ID = 2909
!. ! ‘lp!lon != !l”
4. 4 [Option ID = 2912]

24) When inference is based not on causation but

on uniformity of co-existence, what is it called as per
Classical Indian School of Logic?

1. Kevalanvayi

5. Parvavat

4, Sesavat



8 SH BH-BRU UG TR AU 7 5/ Ge-3iwa B
U@ T I AU Bl & ) d HROd 19 90 &
IIUR S T Bl WA 6 ?

1. aeFadl

3. gdad

4. ¥9ad

[Question ID = 729][Question Description = 129_0_GP28_0CT22_S2_Q29]
1.1 [Option ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Option ID = 2915]
4. 4 [Option ID = 2916]

25) Which of following is true regarding Classical Indian School

of Logic?

A, It isdeductive

B. It is inductive

C. It isformal

D. It is matenal

E, it always leads from universal to particular enly

Choose the correct answer from the options given below;
1.A B Cand Donly
2.B and Conly
3. A and D anly
4 4B CDandE

HIRATE WA FehHd @ 8] FEiied J 8 B 8§ B
fﬁmm%{

B. U8 SFTHATHS il &

C. 9% J@IR® e g

D. T8 YSHg BT g |

£, T8 Had U] WEU A a9y 1659 ©1 3R Ugd ol o

Hid fau 7Te fapedl H 9§ Wel ST 9 :
1. 30 A, 8.CHRD

2. BAHE AR C

3. FATAARD

4.A B CDIRE

[Question ID = 730][Question Description = 130_0_GP28_0CT22_52_Q30]
‘ 1. 1 [Option ID = 2917]



2. 2 [Option ID = 2918]
3. 3 [Option ID = 2919]
4. 4 [Option ID = 2920]

26) MIDI is associated with the storage-of music files. MIDI is

an acronym for__
1. Musical Interactive Digital Interface
2, Musical Instructions Device Interpreter
3. Mask terative Display Instance
4. Musical Instrument Digital Interface

TH 313 S 1S Gilid (i) Bisal & YR J daitd 8
A 3% 31 o Feifea & 1 frus R ue oiadf rss &
2, FAied 3 9C e [Sa1d goilet
3. A% 3iciicg foud 3%y

[Question ID = 731][Question Description = 131_0_GP28_0CT22_52_Q31]
1. 1 [Option ID = 2921]
2. 2 [Option ID = 2922]
3. 3 [Option ID = 2923]
4. 4 [Option ID = 2924]



27)

Mohit has sent an email to Bobby, Danny and Ashok as’
shown belowi;

From: Mohit@gmail.com
To : Bobby@gmail.com
Cc : Danny@gmail.com

Bee : Ashok@gmail.com

Subject : Important update

Dear

Calleague,

Please note that tomorrow's meeting has been cancelled.
Regards-

Mohit

Which of the following statements is Correct?

1. Bobby ‘and Danny are aware that Ashok received the
email

2. Danny is aware that Ashok and Bobby received the
email

P

4, All recipients are ‘aware that the others received the
email,




Hifed 7 A<, T3 U5 P B 3 J6 Hiod (60 & od 59
PLATER T K

From: Mohit@gmail.com
To: Bobby@gmail.com

Cc Danny@gmail.com

Bec: Ashok@gmail.com

Subject: Impertant Update

Dear Colleague
Please note that tomorrow’s meeting has been cancelled
Regard

Mohit

Frifea ®H- &Y Wel 2
1. 418l SR 590 1 T € fob SfR1e @Bl 3-+¥e1 Wi &l T
2 E‘_’iﬁﬁlm%ﬁ 3 ST Sl @1 5-H U &1 T
E.E;%ﬁiﬂﬂ e ofe S 1 §-F v B
4, E{Lﬁ%maﬁﬁaﬁﬁfmi‘ﬁ 3 gt @1 §-Aa U
T gl

[Question ID = 732][Question Description = 132_0_GP28_0CT22_S2_Q32]
1. 1 [Option ID = 2925]
2. 2 [Option ID = 2926]
3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]

28) Which of the following are web search engines?

A. DuckDuckGo
B. Google

C. Yahoo search
D. Bing

E, Pinterest

Cheose the correct answer from the options given below:
1.8, Cand D only
2,8 Cand Doty
3.B and E only
4. A C DandE only



FHiaRad 5 9 ®F 99 99 391 o7
ASHSH

B, TFTd
C. UIg I
D. &
E, fvw

I fau e famadl 4 G Wel S 9 -
1. &ag 8, C SR D
2. &aw A, B, C IR D
3. FadBIRE
4 FaAA C DIHRE

[Question ID = 733][Question Description = 133_0_GP28_0CT22_S2_Q33]
1. 1 [Option ID = 2929]
2. 2 [Option ID = 2930]
3. 3 [Option ID = 2931]
4. 4 [Option ID = 2932]

29) Match List I with List 11

List | List I
(Statement) (Value)
4. The number of bits that make up a byte .5

B. Base - 10 (denary) value of the binary number;
o111

1.8

C. Number of minutes to upload a 75 megabyte I 18
file at 2 Megabits per second upload speed '

D. If there are 2° bytes in a Kilobyte then what is
the Value of P7

.15

Choose the correct answer from the options given below:
T.A-LB-ILC-1ILD-IV
2 A=W BV, E-4D-IF
A-NLB-IVC-1,D-1
A A-1LB-1L,C-M,D-1Il



e -1 1 -1l e B ;

|

U

A, {9y ®f 95 9] ey Ue 913 &l 6|

8. TESMHR 9= 001111 T 89- 10 @EE®) 59

C. 2 Uifazg ufa Y HUdis Wie | @l 75 AERe &
HEd b AUAIS & 8§ O ardd 5

D. 3f% U fhaiiaze H 2° S15¢H 8f <l P &1 d1F a1 shI?
7 feu U fdwedt © € 98 S I
1.A-LB-1,C-1I,D- IV

ZA-NB-IV,C-LD-

3A-IL,B-IV,C-1,D-1l

4. A-1,B-1,C-VD-1I

[Question ID = 734][Question Description = 134_0_GP28_0CT22_52_Q34]
1. 1 [Option ID = 2933]
2. 2 [Option ID = 2934]
3. 3 [Option ID = 2935]
4. 4 [Option ID = 2936]

30 Given below are two statements

Statement I: ROM is temparary memory that can be
written to or read from and the contents of the memory
can be changed,

Statement ll: RAM is permanent memory that can only be
read from and contents of memaory cannot be changed.

In light of the above statements, choose the most
appropriate answer from the options given below
1. Beth Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct



i &l P R § SR 5EN & wed 1 -

WY - | - TH (ROM) ST HAR & o 0T forg o 9odl &
3R o IeT ol 9T & SN HERI @1 3iqde] @1 Ul
foa o gwa g1

TYF - 11 : 39 (RAM) IR 59 & Forad o ugr o 9@
& IR AN F1 3iTdw 3 ukefid ol fbu & 9Hd o

ST S| § HTE® 4 HEead (9w A § el 9wt
-
1. YA | 3 11 GHT Tl 81
2. %% | 3R || S T B |
3.PYT I UG §, [ PY I T & |
4, BYT | EA B, [ Y 1| 81 B

[Question ID = 735][Question Description = 135_0_GP28_0CT22_52_Q35]
1. 1 [Option ID = 2937]
2. 2 [Option ID = 2938]
3. 3 [Option ID = 2939]
4. 4 [Option ID = 2940]

31) Given below are two statements

Statement |: Concentration of Volatile Organic Chemicals
is generally 100-1000 times higher in surface water than
underground water,

Statement |I: The most commen method of treatment of
Volatile Organic Chemicals is tc aerate them to
atmosphere.

I light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Both Statement | and Statemerit |l are false.

3. Statement | is true but Statemenit Il is false.



el ey BumE.

HY - | ; AR Bl WA B W YT 5 91
Y& W] oia 3 AR 100-1000 THT 3 Sl

HYF - || ; AT BleH® THEA & YT @ Ggiad
A B3fY 3= e | afad & 5l

IUUE DYA| P HTID o FHlcad [adedl H § el 9w
ECE

1. YT | 3R || GF Tl 8

2. ®YA | R 1 GH TEd B |

399 | 9 &, g dYT 1 T 8 |

4 FYT | 3T, g o 0 T B

[Question ID = 736][Question Description = 136_0_GP28_0CT22_52_Q36]
1. 1 [Option ID = 2941]
2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4. 4[Option ID = 2944]

32) Pyrolysis-helps in addressing the Problem of

1. &ir Pollution

2. Water Psllution

3. Municipal Solid Wastes-
4. Electronic Wastes

amg-3uye fufaies § € forg oo & 9aeE & 98

[Question ID = 737][Question Description = 137_0_GP28_0CT22_S2_Q37]
1. 1 [Option ID = 2945]
2. 2 [Option ID = 2946]
3. 3 [Option ID = 2947]
4. 4 [Option ID = 2948]

33) The period of Sendai framework for disaster risk reduction

15
1.2015 - 2030
2.2020 - 2040
3.2015 - 2025
4.2020 - 2030



UG SIGH <IATH0 g sy SuvEl i 3ay
T g e g,

1.2015 - 2030

2. 2020 - 2040

3.2015 - 2025

4.2020 - 2030

[Question ID = 738][Question Description = 138_0_GP28_0CT22_52_Q38]
1. 1 [Option ID = 2949]
2. 2 [Option ID = 2950]
3. 3 [Option ID = 2951]
4. 4 [Option ID = 2952]

34 .
) Given below are two statements

Statement |: To address problem of climate change it is
essential for the world to have 'Net Zero'

carbon emisgsions by the year 2050.

Statement II: There is zero carbon emission associated
with-the production of gray-hydrogen.

In light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Both Statement | and Statemerit Il are false.

3. Statement | is true but Statement Il is false.

4, Statement | is false but Statement Il is true,

el ey BumE.

HY - | ; Faarg URaa- @1 YA & SHIYHE B, fay &
Tg 90T ¢ 19 g8 2050 O% Fad 4 TE S8eq &
T @I el B

HY - || : 0 DI Iodoi I BIEse ® Sdied & Oy
HeE

IUHE DYA & AP o FHlead [aeedl § ° Jol 3w
T :

1. YT | 3R 1 EH T B

2. B | 3R (1 GHT 94 8|

3.FyT I g0 e, g @y 1 TeE 6 |

4. YT | A 8, g DY 1| HEl &

[Question ID = 739][Question Description = 139_0_GP28_0CT22_52_Q39]
1. 1 [Option ID = 2953]
2. 2 [Option ID = 2954]
3. 3 [Option ID = 2955]
4. 4 [Option ID = 2956]



35 Given below are two statements
Statement I: Acute expasure to a chemical is a long
term continuous exposure by that chemical

Statement I: Chronic exposure to a chemical is a short
term exposure to that chemical

In light of the above statements, choose the most
appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorect
3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement |l is correct

Tasiar U E:
HY - | ; T T @7 o180 SRTeH GF TEUH gRI e
T SEBIe® Fod SEE

DY - 1| ; [Pl TG B TRET0P F=dd 9F THIg @)
Hea@mTaw Sued o

ST DU P HE® 4 HHead [ | § el 9wt
EGE
1. a:‘u:rla?l?ufﬁ:lmﬁ’r%n
2. @Y | 3R || G Tad 8
3. P | S 2, fobed Y 1| T B |
4.W|aqm%,iﬁﬁaiﬂ?ﬂmﬁ’r%:

[Question ID = 740][Question Description = 140_0_GP28_0CT22_52_Q40]
1. 1 [Option ID = 2957]
2. 2 [Option ID = 2958]
3. 3 [Option ID = 2959]
4. 4 [Option ID = 2960]

36) Community Colleges are supposed to offer courses that

are a mix of
1. Fing Arts and Life Skills
2. School and College Education
Technlcal and Traditional Skills

edge, Technical aﬁdSﬂftSHlls

Traihe Aeliaarel g1 Rufeied usgear & T a g
o ygm o1 e B T 8 7
1. At @e IR S dEE
2. [aereig SR Arefagrey fan
aﬁaﬁah?mwﬁﬁﬁm




[Question ID = 741][Question Description = 141_0_GP28_0CT22_52_Q41]
1. 1 [Option ID = 2961]
2. 2 [Option ID = 2962]
3. 3 [Option ID = 2963]
4. 4 [Option ID = 2964]

37 The major terms of reference for the National Knowledge

Commission were
A, Challenge developed countries in Knowledge creation
B. Westernise the Indian educational system

C. Promote creation of Knowledge in science and
technology laboratories

D. Promote Knowledge applications in agriculture and
industry

E, Build excellence in education system to meet the
challenges of the twenty-first century

Choose the correct answer fram the options given below;
1.4, Band Conly
2.B, Cand D only
3.C, Dand Eonly.
4.4 BandEanly

1P T ST & Y [Gar e Fafifaa H e g
q:
AT o & &7 1 Sl 531 & gl o
B, YReTg RI&T Uegicl @1 WIS
c. fag we dieliffte] warmEasd | 9 94 @1 dided
D. B U4 SN & & H §1H SHWAR D Uidie
E. 300 19d] Gal ®1 gAlag! B GiHA] B & (a8 1151 S
H IaEdl & FE
d fau 71C fadedl 4 4 el IR 91 :

1. BaA A BARC

2. %ae B, C 3D

3. %98 C, D ARE
4 HIAA B IARE

[Question ID = 742][Question Description = 142_0_GP28_0CT22_S2_Q42]
1. 1 [Option ID = 2965]
2. 2 [Option ID = 2966]
3. 3 [Option ID = 2967]
4. 4 [Option ID = 2968]



38)  The acronym SANKALP', introduced by the Ministry of Skill

Development and Entrepreneurship, stands for :-
1. Skill Awareness and Knowledge Assessment of
Livelihood Promation
2. Skill Addition and Knowledge Assessment of
Livelihood Promation

!. !!l" M_agnmg! an! !n’ﬂwle_dge Awareness of

Livelihood Promation

et TH U $ U A O Fgifeed # foowe 4w w9 8
1. e ST s e e offe fradigs

4. Tope origHe U5 A 90y S adigs
JHEH

[Question ID = 743][Question Description = 143_0_GP28_0CT22_52_Q43]
1. 1 [Option ID = 2969]

2. 2 [Option ID = 2970
!. ! |!pt1|on l! = !!l!i
Where is Chanakya said to have composed his
Arthashastra 7
3. Nalanda
4. Vikramshila

10T iR &1 w9 Sel @ 4
1. WIRATY

3. el
PR GrabiHl

[Question ID = 744][Question Description = 144_0_GP28_0CT22_S2_Q44]
1. 1 [Option ID = 2973]

. ption ID =
4. 4 [Option ID = 2976]




40) Match List | with List 11

List | List 1l
Name of the : .

. Domain and Subject Matter
Subject

~ I. Agriculture, trade, commerce, animal
A, Kavya )

husbandry

B. Aniviksiki Il. Etymiology
C. Varta IIl. Logic
D. Ntrukta IV. Imaginative and creative literature

Choose the correct answer from the options given below:
T.A-ILB-ULC-IV,D-|
2.A-IV,B-HLC-1,D-1
FA-NB-IVC-Il,D-1
AA-ILB-IV,C-,D -1l

Tl - @] gl -1 e DI ;

CER =l -1l

T &1 T &7 AR fawgagg

A BT |. B, YR, I, TIUeH

B. S{difafs] I1. Fs5; ST A

C. @t 111 TEB R

D. e V. FEATED AR GoTEE 9ied
4 fer e fdwedt © © W eI

TA-U,B-ILC-IV,D-I
2.A-WV,B-I,C-LD-I1
3.A-UILB-IV,C-1I,D-!
4. A-1IL,B-IV,C-1D-1I

[Question ID = 745][Question Description = 145_0_GP28_0CT22_S2_Q45]
1. 1 [Option ID = 2977]
2. 2 [Option ID = 2978]
3. 3 [Option ID = 2979]
4. 4 [Option ID = 2980]

Topic:- 13_GP_SH1_S2_C



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was to spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which was the Statement of fact in the Speech of
Mahatma Gandhi at Banaras?
1. Lawyers, doctors and landlords sided with the British.

2. The Indian nationalism was elitist

3. Nationalism was oif.another level in India
4. The existing Indian nationalism was highly effective



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

FARY H HETA1 N o HIEY] & W S HEfead § 9
B FIUN
1. aepicH, Fafdream! 2R HEanHal - Sl &1 ug femn
3. YR H APAIG &L @ U
4. TaEr HRTE aTG Sid gHTE! ol

[Question ID = 746][Question Description = 146_0_GP28_0CT22_S2_Q46]
1. 1 [Option ID = 2981]
2. 2 [Option ID = 2982]
3. 3 [Option ID = 2983]
4. 4 [Option ID = 2984]



2)

Gandhiji'sspeech expressed the intention of

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar.
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was to spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

= =

2. Announcing the desire of expatriates to become
politically active

3. Criticising the activities of Indian nationalists

4 Launching a new nationalist movement



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
mﬁimlsqm%wr&wﬁwmwmﬁaﬁnﬂmiﬁ
Uiel 76 WerYid ¥E aTd AgarGl & 99 J Ugdr o ol |
& woft v O 4| v Y 9g HERE ST I e
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

eie FEA A 3 SoR A6 &) GR) T8 @ e o)
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

e} i & W § e § 9 ey s & sifvefe
g i
1. HRAE AFag ﬁaﬂmﬁﬂﬁﬁmw—h
2. FaiGd! @1 Aeio® €U § 94 e & 331 &
SEH B
3. YA APAIG & BEGA B SATarEH] S
4. T APAIG] AT HRH BT

[Question ID = 747][Question Description = 147_0_GP28_0CT22_S2_Q47]
‘ 1. 1 [Option ID = 2985]

2. 2 [Option ID = 2986]

3. 3 [Option ID = 2987]

4. 4 [Option ID = 2988]



3)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was to spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhijl could put his precept into practice during

1. The Lucknow mesting
2. The talks with landlords

4, Tnie interaction with nationalist leaders




ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

i 5 3 oo fifa 91y @1 Fefafad J © e drE
Sii-gd fohd] 7

1. TS FH1

3. SURA §AHE

4. AFTGETC] ATl & 9y STl

[Question ID = 748][Question Description = 148_0_GP28_0CT22_S2_Q48]
1. 1 [Option ID = 2989]
2. 2 [Option ID = 2990]
3. 3 [Option ID = 2991]
4. 4 [Option ID = 2992]



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was to spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which issue propelled Gandhiji to the national stage for a
wider movernent?
1. Labour dispute of textile mill workersin Ahmedabad
2. Agitation peasanis in Kheda
3. The revolt against British Indigo planters

4. The Rowlatt Act
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B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Tda] TS SR ST 2d & B e 180 aH $1 ATHd
A |

e B 4 37 oK AFE] S GR1 TG B FH1E B
| 7TE] S §R] STl Mgl 9o & HEHF & BRu
IR AR UI8E YRd H d8vd P 1edfd I gl |

frafafad & | feow g A 7 off & g R W) s
HigieH @ o8 Ui A

1. IEYEIEE 4 $US Hd HeRI &I 59 Gag

2. WeT & gt o1 sifaied

3. ic Pu®I @] HUw & (GG 9ale

4. qJeie T

[Question ID = 749][Question Description = 149_0_GP28_0CT22_S2_Q49]
1. 1 [Option ID = 2993]
2. 2 [Option ID = 2994]
3. 3 [Option ID = 2995]
‘ 4. 4 [Option ID = 2996]



5)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar.
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was to spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

The main intent of the passage is to deseribe

1. The British atrocities in India
2. The different facets of Indian national movement
3. The various campaigns against the British in [ndia

"" argence of



FrafafeEa e o1 ufed ot 46 & 50 TH U F I
gifeg ;

W] 1916 § §910G H 77| &1 HTHY] U &8 W a9 oy
T o, ST YR Apare U Sid givaen 4, foreH
TE, Fafem! R Y @1 Oty uRer 6| g
O TR W T8 39 A1 3 oy o1 fagd GF dlead o
aTe WAt SHiaad] @1 HRKY JPAIG Pl U Bl Sy
BT G SUINOn &1 7TH] A 59H YRa™ aill @1 3
i@ TR Ui 5 59 39 9y & s 71 T @
@1 (0 i 919 B agR €U ¥ URad B B gHaw
U g1 fETeR 1916 & vi@3 § HAIod 96 J (98K &
dURA & far! - 374 Hud g o | e g/ 3=
fafem +ia @1 T - aral & H64 9geR & gR H gad
T | e @] @Y 1917 | AT SiUdmiS §ug 9ueA 3 o
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT H 16 41 T8 1918 F TR S 307 TTeReg o o

&1 Hffgiemt | anfhd gU) 99y 36 Bugl Ha & sHaRl
@ DRCY d5at B & (08 HEHGIEIE | 94 ([9aG H
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
3 ol g O 4| 0yE 9% 08 & eRE o9 4 TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

Jcie 9fEfT A 3 SR aFel B §R) e @) whE &t
71 7Tl i gR1 ST Sigle 99 § HEH & SR
I AR UiEE YRd H dvd P 1edfd I sl |

T & 5% 9E R FEfatad o | g g e 8 7
1. YIRa H feifew @R
2. YR AP SHigie & H ua
3. YRa H UGl & [aea fafay sfEe
. e it o wfaffe W o & w0 H sfavia

[Question ID = 750][Question Description = 150_0_GP28_0CT22_S2_Q50]
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